REGO-FIX

e

M@de in
Switzerland

Swiss
Precision
Tools




Company founder Fritz Weber

Ma_lde in
Switzerland

The REGO-FIX company history has been strongly influ-
enced by its founder, Fritz Weber. His innovative spirit and
persistence was instrumental in making his invention, the
ER collet system, a world-wide industry standard. The

DIN standardization of the ER collet system was the final
confirmation that Fritz Weber was on the right track with his
invention. Not only is REGO-FIX AG one of the leading
manufacturers of tool holding systems in the world, it also
has a reputation of being one of the best.

The innovative design of the patented powRgrip® colletholder
system is another milestone in the history of REGO-FIX AG.
Continuous investments in employees, high-tech manu-
facturing facilities and product developments have made
REGO-FIX AG a leader in high-precision toolholding systems.

The Jura region in North Western Switzerland has long been
famous for its watch making industry and its production of
precision mechanical products. It's here, in the village of
Tenniken, where REGO-FIX® products are manufactured and
distributed worldwide.

Company sales organizations in the US, China and Germany
along with a world wide network of manufacturer represen-
tatives complete the REGO-FIX® global distribution system.

An innovative spirit within REGO-FIX AG encourages con-
tinuous improvement of existing products and the deve-
lopment of new ones. Motivated, well-trained employees
with years of experience, represent «Swiss Quality». Their
knowledge, experience and skills are put to use in the new
and modern REGO-FIX® manufacturing facility.



REGO-FIX® '

ER3$ % 3%

oty il 4

o AR HEER i J R G

TH AR AL S A

MBS R A S5

SRR

o B e i A I TR R 42

i HFHEAL ~ BRI ~ BoAL ~ WL

*REGO-FIXfAj 3¢ ~ JIH ~ BRIE 5[ FHA

P —

AR ECE

HrCMdE (T. 1. R. ) X )] R A3 i 2

200 REGO-FIX"
UPER 3 B i e
-
160 REGO-FIXC
R 0 i
L ——-
=
g _
g 100
g
2 W
60
)
2
0 25 5 15 10 125 15 75 W B3

HC % (um)

5001



({Zclo ) &

ER 8fr /&Y DIN 6499/ 1SO 15488
ER 8-UPS#5E R

FHEHE
: o ER8 | ERS-UP . ER8EKEN#EE <0.01 mm
mm inch finch] | F*AMS | FERES . ER8-UPBKENHERE < 0.005 mm

- CHEARZREMERER

1.00 - 0.50* |0.0394-0.0197 | 1/32" | 1108.01000 | 1108.01001

1.50 - 1.00* | 0.0591 - 0.0394 - 1108.01500 | 1108.01501

2.00 - 1.50* |0.0787-0.0591 | 1/16" | 1108.02000 | 1108.02001

2.50-2.00% |0.0984-0.0787 | 3/32" | 1108.02500 | 1108.02501

3.00 - 2.50* | 0.1181 - 0.0984 - 1108.03000 | 1108.03001

3.50-3.00% |0.1378 - 0.1181 1/8" 1108.03500 | 1108.03501

4.00 - 3.50* |0.1575-0.1378 | 5/32" | 1108.04000 | 1108.04001

4.50-4.00% |0.1772-0.1575 - 1108.04500 | 1108.04501

5.00 - 4.50* [0.1969 - 0.1772 | 3/16" | 1108.05000 | 1108.05001

ER8-MB{{/ XY

FHEEEE ERE.MB - ER8-MBEkzN#EE < 0.006 m
: RS o FFH mmL}f‘If?]E
mm L] . TEWERFIREENTIUR
0.2 0.0079 1308.00200 ' *%%Zﬂﬁﬁ@ﬁ’\]ﬁ’l‘i%’]%
0.3 0.0118 1308.00300
0.4 0.0157 1308.00400
0.5 0.0197 1308.00500
0.6 0.0236 1308.00600
0.7 0.0276 1308.00700
0.8 0.0315 1308.00800
0.9 0.0354 1308.00900

il.02



REGO-FIX®

ER11{RER! DIN 6499/ 1SO 15488
ER11-UPE 52

ks 2 ER11 ER11-UP Chdikiin o ER11 | ER11-UP
mm inch linch] | =M% S | FEmiRs mm . linch] | FRERE | FRHE
100 - 0.50% 0.0394-0.0197 | 1/32" | 1111.01000 | 1111.01001 450-4.00% [0.1772-0.1575 | - | 1111.04500 | 1111.04501
150 - 1.00* 0.0591-0.0394 | - | 111101500 | 1111.01501 5.00-4.50% [0.1969-0.1772 | 3/16" | 111105000 | 1111.05001
2.00- 1.50% [0.0787-0.0591 | 1/16" | 111102000 | 1111.02001 5.50-5.00% |0.2165-0.1969 | - | 1111.05500 | 1111.05501
2.50-2.00* [0.0984-0.0787 | 3/32" | 111102500 | 1111.02501 6.00-5.50% [0.2362-0.2165 | 7/32" | 1111.06000 | 1111.06001
3.00-2.50% [0.1181-0.0984 | - | 1111.03000 | 1111.03001 6.50-6.00% [0.2559-0.2362 | 1/4" | 111106500 | 1111.06501
3.50-3.00% [0.1378-0.1181 | 1/8" | 1111.03500 | 1111.03501 7.00-6.50% [0.2756-0.2559 | - | 111107000 | 1111.07001
4.00-3.50% [0.1575-0.1378 | 5/32" | 1111.04000 | 1111.04001

. ER11EkEIEE <0.01 mm
- ER11-UPEkzI#EE < 0.005 mm
. *HEEFE RIS MR R

ER11-MB

yan z I 7 = Y= H
U Tl ASiEE
Sz 4 3 RiFEE
AHEE ER11-MB ;Ryg-gg
mm inch Fﬁgﬁ% mm AR RS
0.2 0.0079 1311.00200 3.0 1111.03005
03 0.0118 1311.00300 3.175 1111.03185
0.4 0.0157 1311.00400 4.0 1111.04005
0.5 0.0197 1311.00500 6.0 1111.06005
- ER11NDEKEIHEE < 0.003 mm
0.6 0.0236 1311.00600 . 2;”—'%—*%1—5-—7]*@@6% , ﬁﬁ:,':%u&*jml , E
0.7 0.0276 1311.00700 1.26 TTHSK-E/ER MSJJ#
038 0.0315 1311.00800 - JJERERVHRELNILA
0.9 0.0354 1311.00900

- ER11-MBBkEI#EE < 0.006 mm
o REF1TmMmUITIIAR
. JTEWMBRERFREENIUNRA

5l.03



REGO-FIX®

o — 3
ER167%T; U DIN 6499/ 1SO 15488
’ 7, =
s = J=E & Fl
5 ER1 6-UPSHEE
9 ER16 ER16-UP i 2] ER16 ER16-UP
. = = [=] =
mm -~ linch] | FEMRS | FFmERmS m inch linch] | =MmmS | FmmsS
1.00 - 0.50% [0.0394 - 0.0197 | 1/32" | 1116.01000 | 1116.01001 6.00 - 5.0080 2362 - 0.1969 | 77320 | 1116.06000 | 1116.06001
150-1.00 10.0591-0.0394 | - |1116.01500 | 1116.01501 6.50-5.50 |0.2559-0.2165 | 1/4" | 1116.06500 | 1116.06501
2.00 - 1.00*]0.0787 - 0.0394 | 1/16" 1116.02000 | 1116.02001 7.00 - 6.00%0.2756 - 0.2362 _ 1116.07000 | 1116.07001
2.50-1.50 [0.0984-0.0591 | 3/32" | 1116.02500 | 1116.02501 750-6.50 102953 - 02550 | 91327 | 111607500 | 1116.07501
3.00-2.00*0.1181-0.0787 | - |1116.03000 | 1116.03001 8.00 - 7.0040.3150 - 0.2756 | 5/16" | 1116.08000 | 1116.08001
3.50-2.50 [0.1378-0.0984 | 1/8" | 1116.03500 | 1116.03501 2.50-750 0334702053 | - |1116.08500 | 1116.08501
4.00 - 3.00%[0.1575 - 0.1181 | 5/32" | 1116.04000 | 1116.04001 9.00 - 8.00903543 - 0.3150 | 1132 | 1116.00000 | 1116.09001
450-3.50 0.1772-0.1378 | - | 1116.04500 | 1116.04501 0.50-8.50 l03740-03347 | - |1116.09500 | 1116.09501
5.00 - 4.00% [0.1969 - 0.1575 | 3/16" | 1116.05000 | 1116.05001 e e || e | .| e
5.50-4.50 [0.2165-0.1772 | - | 1116.05500 | 1116.05501

. ER16EI1EE <0.01 mm
« ER16-UPBKEI#EE <0.005 mm
- *HEHEFTE ISR MER R

ER16-MB

R R

;Eﬁ:;ﬁ ER16-MB
mm inch s
0.2 0.0079 1316.00200
0.3 0.0118 1316.00300
0.4 0.0157 1316.00400
0.5 0.0197 1316.00500
0.6 0.0236 1316.00600
0.7 0.0276 1316.00700
0.8 0.0315 1316.00800
0.9 0.0354 1316.00900

- ER16-MBHzI#5E < 0.006 mm
« FE1TmmUTIA
- JNEMERRIFIREENTIIA

1l.04



REGO-FIX®

ER20%7 A B!
ER20-UPS 5 EH!

HisEH (/] ER20 ER20-UP
mm inch linch] | @RS | FmAmES
1.00 - 0.50 | 0.0394 -0.0197 1/32" 1120.01000 | 1120.01001
1.50 - 1.00 | 0.0591 - 0.0394 - 1120.01500 | 1120.01501
2.00- 1.00* [ 0.0787-0.0394 | 1/16" | 1120.02000 | 1120.02001
2.50- 1.50 [0.0984-0.0591 | 3/32" | 1120.02500 | 1120.02501
3.00 - 2.00* | 0.1181 - 0.0787 - 1120.03000 | 1120.03001
3.50- 2.50 |0.1378 - 0.0984 1/8" 1120.03500 | 1120.03501
4.00- 3.00% [ 0.1575-0.1181 | 5/32" | 1120.04000 | 1120.04001
4.50- 3.50 |0.1772-0.1378 - 1120.04500 | 1120.04501
5.00 - 4.00*% | 0.1969 - 0.1575 | 3/16" 1120.05000 | 1120.05001
5.50- 450 |0.2165-0.1772 . 1120.05500 | 1120.05501
6.00 - 5.00*% | 0.2362 - 0.1969 | 7/32" 1120.06000 | 1120.06001
6.50 - 5.50 | 0.2559-0.2165 1/4" 1120.06500 | 1120.06501
7.00 - 6.00% | 0.2756 - 0.2362 . 1120.07000 | 1120.07001
7.50 - 6.50 |0.2953 -0.2559 | 9/32" 1120.07500 | 1120.07501
8.00 - 7.00* | 0.3150 - 0.2756 | 5/16" 1120.08000 | 1120.08001
8.50- 7.50 | 0.3347-0.2953 = 1120.08500 | 1120.08501
9.00 - 8.00%| 0.3543 -0.3150 | 11/32" | 1120.09000 | 1120.09001
9.50 - 8.50 |0.3740 - 0.3347 - 1120.09500 | 1120.09501
10.00 - 9.00% [ 0.3937-0.3543 | 3/8" [ 1120.10000 | 1120.10001
10.50 - 9.50 [0.4134-0.3740 | 13/32" | 1120.10500 | 1120.10501
11.00 - 10.00*| 0.4330 - 0.3937 - 1120.11000 1120.11001
11.50 - 10.50 | 0.4528 -0.4134 | 7/16" 1120.11500 1120.11501
12.00 - 11.00%| 0.4724 - 0.4375 | 15/32" | 1120.12000 | 1120.12001
12.50 - 11.50 | 0.4921 - 0.4528 - 1120.12500 | 1120.12501
13.00 - 12.00*| 0.5118 - 0.4724 172" 1120.13000 | 1120.13001
- ER20BKEIEE <0.01 mm

- ER20-UPBkEI#EE < 0.005 mm
- CHBERERIEMER R

il.05

DIN 6499/ 1SO 15488



REGO-FIX®

ER25%7 A B!
ER255 5 E 8!

HiEH [%] ER25 ER25-UP

mm inch linch] | FFRART | FFRRS
1.00- 050 |0.0394-0.0197 | 1/32" | 1125.01000 | 1125.01001
1.50- 1.00 | 0.0591 - 0.0394 - 1125.01500 | 1125.01501
2.00- 1.00* | 0.0787-0.0394 | 1/16" | 1125.02000 | 1125.02001
250- 150 |0.0984-0.0591 | 3/32" | 1125.02500 | 1125.02501
3.00- 2.00% | 0.1181 - 0.0787 = 1125.03000 | 1125.03001
350- 250 |0.1378-0.0984 | 1/8" | 1125.03500 | 1125.03501
4.00- 3.00% | 0.1575-0.1181 | 532" | 1125.04000 | 1125.04001
450-3.50 |0.1772-0.1378 = 1125.04500 | 1125.04501
5.00- 4.00* | 0.1969-0.1575 | 3/16" | 1125.05000 | 1125.05001
550- 450 |0.2165-0.1772 - 1125.05500 | 1125.05501
6.00- 5.00% | 0.2362-0.1969 | 7/32" | 1125.06000 | 1125.06001
650- 550 |0.2559-02165 | 1/4" | 1125.06500 | 1125.06501
7.00- 6.00% | 0.2756 - 0.2362 - 1125.07000 | 1125.07001
750- 650 |0.2953-0.2559 | 9/32" | 1125.07500 | 1125.07501
8.00- 7.00* | 0.3150-0.2756 | 5/16" | 1125.08000 | 1125.08001
8.50- 7.50 |0.3347-0.2953 - 1125.08500 | 1125.08501
9.00- 8.00* | 0.3543-0.3150 | 11/32" | 1125.09000 | 1125.09001
950- 8.50 | 0.3740 - 0.3347 - 1125.09500 | 1125.09501
10.00 - 9.00* | 0.3937-0.3543 | 3/8" | 1125.10000 | 1125.10001
10.50- 950 | 0.4134-0.3740 | 13/32" | 1125.10500 | 1125.10501
11.00 - 10.00%| 0.4330 - 0.3937 - 1125.11000 | 1125.11001
11.50-10.50 | 0.4528-0.4134 | 7/16" | 1125.11500 | 1125.11501
12.00 - 11.00%| 0.4724 - 0.4375 | 15/32" | 1125.12000 | 1125.12001
12.50-11.50 | 0.4921 - 0.4528 - 1125.12500 | 1125.12501
13.00- 12.00% 0.5118-0.4724 | 172" | 1125.13000 | 1125.13001
13.50-12.50 | 0.5315-0.4921 | 17/32" | 1125.13500 | 1125.13501
14.00 - 13.00%| 0.5512-0.5118 - 1125.14000 | 1125.14001
14.50-13.50 | 0.5709-0.5315 | 9/16" | 1125.14500 | 1125.14501
15.00 - 14.00*| 0.5905 - 0.5512 - 1125.15000 | 1125.15001
1550-14.50 | 0.6102 - 0.5315 | 19/32” | 1125.15500 | 1125.15501
16.00 - 15.00% 0.6300-0.5905 | 5/8" | 1125.16000 | 1125.16001
17.00-16.00 | 0.6692 - 0.6300 | 21/32" | 1125.17000 | 1125.17001

DIN 6499/ 1SO 15488

- ER25BKEIFEE <0.01 mm
« ER25-UPHkzi#5E < 0.005 mm
o *FEZH P H SR M R Sk

1l.06



REGO-FIX®

ER32fr/EHY DIN 6499/ ISO 15488
ER32-UPSEEE!

HistE (4] ER32 ER32-UP HisEE (7] ER32 ER32-UP
mm inch [inch] | =RRS | =Mk mm Inch linch] | FRERE | FRHE
2.00 -1.00 |0.0787 - 0.0394 | 1/16" | 1132.02000 | 1132.02001 12.00 - 11.00% 0.4724 - 0.4375 | 15/32" | 1132.12000 | 1132.12001
2.50 - 1.50 |0.0984 - 0.0591 | 3/32" | 1132.02500 | 1132.02501 12.50 - 11.50 | 0.4921 - 0.4528 = 1132.12500 | 1132.12501
3.00- 2.00%|0.1181-0.0787 | - 1132.03000 | 1132.03001 13.00 - 12.00% 0.5118 - 0.4724 | 172" | 1132.13000 | 1132.13001
3.50- 2.50 |0.1378-0.0984 | 1/8" | 1132.03500 | 1132.03501 13.50-12.50 | 0.5315-0.4921 | 17/32" | 1132.13500 | 1132.13501
4.00- 3.00%/0.1575 - 0.1181 | 5/32" | 1132.04000 | 1132.04001 14.00 - 13.004 0.5512- 0.5118 = 1132.14000 | 1132.14001
4.50- 3.50 |0.1772-0.1378 - 1132.04500 | 1132.04501 14.50 - 13.50 | 0.5709 - 0.5315 | 9/16" | 1132.14500 | 1132.14501
5.00 - 4.00%]0.1969 - 0.1575 | 3/16" | 1132.05000 | 1132.05001 15.00 - 14.00% 0.5905 - 0.5512 = 1132.15000 | 1132.15001
5.50- 4.50 {0.2165 - 0.1772 - 1132.05500 | 1132.05501 1550 - 14.50 [ 0.6102 - 0.5315 | 19/32" | 1132.15500 | 1132.15501
6.00- 5.00%/0.2362 - 0.1969 | 7/32" | 1132.06000 | 1132.06001 16.00 - 15.00% 0.6300 - 0.5905 |  5/8" | 1132.16000 | 1132.16001
6.50- 5.50 10.2559-0.2165 | 1/4" | 1132.06500 | 1132.06501 16.50 - 15.50 | 0.6496 - 0.6102 = 1132.16500 | 1132.16501
7.00 - 6.00%|0.2756 - 0.2362 - 1132.07000 | 1132.07001 17.00 - 16.00% 0.6693 - 0.6300 | 21/32" [ 1132.17000 | 1132.17001
7.50 - 6.50 0.2953 -0.2559 | 9/32" | 1132.07500 | 1132.07501 17.50- 16.50 | 0.6890 - 0.6496 | 11/16" [ 1132.17500 | 1132.17501
8.00- 7.00%/0.3150 - 0.2756 | 5/16" | 1132.08000 | 1132.08001 18.00 - 17.00% 0.7087 - 0.6693 - 1132.18000 | 1132.18001
8.50- 7.50 |0.3347 - 0.2953 - 1132.08500 | 1132.08501 18.50-17.50 | 0.7284 - 0.6890 | 23/32" [ 1132.18500 | 1132.18501
9.00 - 8.00%|0.3543 - 0.3150 | 11/32" | 1132.09000 | 1132.09001 19.00 - 18.00% 0.7480 - 0.7078 = 1132.19000 | 1132.19001
9.50- 8.50 |0.3740 - 0.3347 - 1132.09500 | 1132.09501 19.50-18.50 | 0.7677 - 0.7284 |  3/4" | 1132.19500 | 1132.19501
10.00 - 9.00%/0.3937 - 0.3543 | 3/8" | 1132.10000 | 1132.10001 20.00 - 19.00% 0.7874 - 0.7480 | 25/32" | 1132.20000 | 1132.20001
10.50 - 9.50 10.4134-0.3740 | 13/32" | 1132.10500 | 1132.10501 21.00 - 20.00 | 0.8267 - 0.7874 | 13/16" | 1132.21000 | 1132.21001
11.00 - 10.00%0.4330 - 0.3937 - 1132.11000 | 1132.11001 22.00-21.00 | 0.8661 - 0.8267 = 113222000 | 1132.22001
11.50 - 10.50 |0.4528 - 0.4134 | 7/16" | 1132.11500 | 1132.11501

- ER32BKZNFEE <0.01 mm
- ER32-UPBkEI#5E <0.005 mm
o *HEHFE ISR MR R

5007



REGO-FIX®

ER40FR AR DIN 6499/ 1ISO 15488
ER40-UPE 5 E 2!

FistE (4] ER40 ER40-UP FirtE o ER40 ER40-UP
. inch linch] | F=MMS | =S mm inch linch] | =RERS | FRERES
3.00- 2.00 |0.1181-0.0787 | 3/32" | 1140.03000 | 1140.03001 16.00 - 15.00% 0.6300-0.5905 | 5/8" | 1140.16000 | 1140.16001
3.50- 2.50 |0.1378-0.0984 | 1/8" | 1140.03500 | 1140.03501 16.50-15.50 | 0.6496-0.6102 = 1140.16500 | 1140.16501
4.00 - 3.00%|0.1575 - 0.1181 | 5/32" | 1140.04000 | 1140.04001 17.00 - 16,004 0.6693-0.6300 | 21/32" | 1140.17000 | 1140.17001
4.50- 3.50 |0.1772-0.1378 - 1140.04500 | 1140.04501 17.50-16.50 | 0.6890-0.6496 | 11/16" | 1140.17500 | 1140.17501
5.00 - 4.00%]0.1969 - 0.1575 | 3/16" | 1140.05000 | 1140.05001 18.00 - 17.00% 0.7087-0.6693 = 1140.18000 | 1140.18001
5.50- 4.50 {0.2165 - 0.1772 - 1140.05500 | 1140.05501 18.50-17.50 | 0.7284-0.6890 | 23/32" | 1140.18500 | 1140.18501
6.00- 5.00%/0.2362 - 0.1969 | 7/32" | 1140.06000 | 1140.06001 19.00 - 18.00% 0.7480-0.7078 - 1140.19000 | 1140.19001
6.50- 5.50 |0.2559-0.2165 | 1/4" | 1140.06500 | 1140.06501 19.50-18.50 | 0.7677-0.7284 | 3/4" | 1140.19500 | 1140.19501
7.00 - 6.00%|0.2756 - 0.2362 - 1140.07000 | 1140.07001 20.00 - 19.004 0.7874-0.7480 | 25/32" | 1140.20000 | 1140.20001
7.50- 6.50 10.2953 - 0.2559 | 9/32" | 1140.07500 | 1140.07501 20.50 - 19.50 | 0.8071-0.7677 = 1140.20500 | 1140.20501
8.00- 7.00%]0.3150 - 0.2756 | 5/16" | 1140.08000 | 1140.08001 21.00-20.004 0.8268-0.7874 | 13/16" | 1140.21000 | 1140.21001
8.50- 7.50 |0.3347 - 0.2953 - 1140.08500 | 1140.08501 21.50-20.50 | 0.8465-0.8071 | 27/32" | 1140.21500 | 1140.21501
9.00- 8.00%|0.3543 - 0.3150 | 11/32" | 1140.09000 | 1140.09001 22.00-21.00% 0.8661-0.8268 - 1140.22000 | 1140.22001
9.50- 8.50 |0.3740-0.3347 | - 1140.09500 | 1140.09501 22.50-21.50 | 0.8858-0.8465 [ 7/8" | 1140.22500 | 1140.22501
10.00 - 9.00%|0.3937 - 0.3543 | 3/8" | 1140.10000 | 1140.10001 23.00 - 22.00% 0.9055-0.8661 = 1140.23000 | 1140.23001
10.50 - 9.50 |0.4134 - 0.3740 | 13/32" | 1140.10500 | 1140.10501 23.50-22.50 | 0.9252-0.8858 | 29/32" | 1140.23500 | 1140.23501
11.00 - 10.00% 0.4330- 0.3937 - 1140.11000 | 1140.11001 24.00 -23.004 0.9449-0.9055 [ 15/16" | 1140.24000 | 1140.24001
11.50 - 10.50 |0.4528 - 0.4134 | 7/16" | 1140.11500 | 1140.11501 24.50-23.50 | 0.9646-0.9252 = 1140.24500 | 1140.24501
12.00 - 11.00%0.4724 - 0.4375 | 15/32" | 1140.12000 | 1140.12001 25.00 - 24.004 0.9843-0.9449 | 31/32" | 1140.25000 | 1140.25001
12.50 - 11.50 |0.4921 - 0.4528 - 1140.12500 | 1140.12501 25.50-24.50 | 1.0039-0.9646 1" 1140.25500 | 1140.25501
13.00 - 12.00%0.5118 - 0.4724 | 1/2" | 1140.13000 | 1140.13001 26.00 -25.004 1.0236-0.9843 = 1140.26000 | 1140.26001
13.50 - 12.50 |0.5315 - 0.4921 | 17/32" | 1140.13500 | 1140.13501 27.00-26.00 | 1.0630-1.0236 | 1-1/16" | 1140.27000 | 1140.27001
14.00 - 13.00%0.5512 - 0.5118 - 1140.14000 | 1140.14001 28.00-27.00 | 1.1024-1.0630 | 1-3/32" | 1140.28000 | 1140.28001
14.50-13.50 |0.5709 - 0.5315 | 9/16" | 1140.14500 | 1140.14501 29.00-28.00 | 1.1417-1.1024 | 1-1/8" | 1140.29000 | 1140.29001
15.00 - 14.00%0.5905 - 0.5512 - 1140.15000 | 1140.15001 30.00-29.00 | 1.1811-1.1417( 1-5/32" | 1140.30000 | 1140.30001
15.50 - 14.50 |0.6102 - 0.5315 | 19/32" | 1140.15500 | 1140.15501

- ER4OBKZNFEE <0.01 mm
- ER40-UPBkEI#5E < 0.005 mm
o *RELHFTE HISE M E R

50.08



REGO-FIX®

ER50%R /& 2!

ER50-UPS {5 EH!

ki 9 ER50 ER50-UP

mm inch linch] | FRHS | FRES
6.00 - 4.00 | 0.2362-0.1575 | 3/16" 1150.06000 | 1150.06001
8.00- 6.00 |0.3150-0.2362 | 1/4" | 1150.08000 [ 1150.08001
10.00 - 8.00 [0.3937-0.3150 | 3/8" [ 1150.10000 | 1150.10001
12.00 - 10.00%{ 0.4724 - 0.3937 | 7/16" | 1150.12000 | 1150.12001
14.00 - 12.00%{ 0.5512-0.4724 | 12" | 1150.14000 | 1150.14001
16.00 - 14.00%{ 0.6300 - 0.5512 | 5/8" [ 1150.16000 | 1150.16001
18.00 - 16.00%{ 0.7087 - 0.6300 | 11/16" | 1150.18000 | 1150.18001
20.00 - 18.00%[ 0.7874 - 0.7087 | 3/4" | 1150.20000 | 1150.20001
22.00 - 20.00%| 0.8661 - 0.7874 | 13/16" | 1150.22000 | 1150.22001
24.00 - 22.00%| 0.9449 - 0.8661 | 7/8" | 1150.24000 | 1150.24001
25.00 - 23.00 | 0.9843 - 0.9055 | 31/32" | 1150.25000 | 1150.25001
26.00 - 24.00%[ 1.0236-0.9449 | 1" [ 1150.26000 | 1150.26001
28.00 - 26.00%| 1.1024 - 1.0236 [1-1/16" | 1150.28000 | 1150.28001
30.00 - 28.00*| 1.1811 - 1.1024 | 1-1/8" 1150.30000 | 1150.30001
32.00 - 30.00%| 1.2598 - 1.1811 | 1-1/4" | 115032000 | 1150.32001
34.00 - 32.00%| 1.3386 - 1.2598 |1-5/16" | 115034000 | 1150.34001
36.00 - 34.00 | 1.4173 - 1.3386 | 1-3/8" 1150.36000 | 1150.36001

- ER50BKZIFEE <0.01 mm
« ER50-UPHLEI#EE <0.005 mm

- CAREREHEMEER

5809

DIN 6499/ 1SO 15488



REGO-FIX®

ER11-DME 7K {5 3

REEE (/] ER11-DM
mm inch linch] | F=mHES

3.00-2.75 0.1181 -0.1083 - 1211.03000
3.18-2.93 0.1250 - 0.1154 1/8" 1211.03182
4.00-3.75 0.1575 - 0.1476 - 1211.04000
476 - 4.51 0.1875-0.1776 3/16" 1211.04762
5.00 -4.75 0.1969 - 0.1870 - 1211.05000
5.56-5.31 0.2188 - 0.2091 71327 1211.05562
6.00 - 5.75 0.2362 - 0.2264 - 1211.06000
6.35-6.10 0.2500 - 0.2402 1/4" 1211.06352
7.00 - 6.75 0.2756 - 0.2658 - 1211.07000

ER16-DM.E 7k 5

s %] ER16-DM
mm inch linch] | 7FRHS
3.00 h9* 0.1181 h9 - 1216.03000
3.18 h9 0.1250 h9 1/8" 1216.03182
3.97 h9* 0.1563 h9 5/32” 1216.03972
4.00 h9 0.1575 h9 - 1216.04000
476 h9 0.1875 h9 3/16" 1216.04762
5.00 - 4.50* 0.1969 - 0.1772 - 1216.05000
5.56 - 5.06 0.2188 - 0.1991 7/32” 1216.05562
6.00 - 5.50* 0.2362 - 0.2165 : 1216.06000
6.35-585 0.2500 - 0.2303 1/4" 1216.06352
7.00 - 6.50* 0.2756 - 0.2559 - 1216.07000
7.14 - 6.64 0.2813-0.2616 9/32” 1216.07142
7.94 - 7.44 0.3125 - 0.2929 5/16 1216.07942
8.00 - 7.50* 0.3150 - 0.2953 - 1216.08000
8.73-8.23 0.3438 - 0.3241 11/32 1216.08732
9.00 - 8.50* 0.3543 - 0.3347 - 1216.09000
9.53-9.03 0.3750 - 0.3556 3/8" 1216.09532
10.00 - 9.50* 0.3937 - 0.3740 - 1216.10000
10.32-9.82 0.4063 - 0.3866 13/32" 1216.10322

DIN 6499/ 1SO 15488

ER-DM
128 |

« ER11-DMBEBIEE < 0.006 mm
- FUOHKA  RAAIRZ300E IHI R &
- TTERTEERARFR » DUAEIH KR

ER16-DMBEI#EE < 0.006 mm
FUOHKE - SRR A Z 3008 YIH R E
TIRERATEERARIFR » DUREIH KRR
*HEAFTE R R

5010



REGO-FIX®

ER20-DM LE 7K 5 3 DIN 6499/ ISO 15488

S 4] ER20-DM T
mm inch linch] | Fm#RwS
e ——
3.00 h9* 0.1181 h9 - 1220.03000 ;
3.18 h9 0.1250 h9 1/8" 1220.03182 L =
3.97h9 0.1563h9 5/32” 1220.03972 ~W ER-DM
4.00 h9* 0.1575h9 - 1220.04000 LE/ JI =3 L
4.76 h9 0.1875 h9 3/16 1220.04762
5.00 h9* 0.1969 h9 - 1220.05000
5.56 h9 0.2188h9 7/32” 1220.05562
6.00 h9* 0.2362 h9 - 1220.06000
6.35 h9 0.2500 h9 1/4 1220.06352
7.00 - 6.50* 0.2756 - 0.2559 - 1220.07000
7.14 - 6.64 0.2813 - 0.2616 9/32” 1220.07142
7.94 -7.44 03125 - 0.2928 5/16" 1220.07942
8.00 - 7.50* 0.3150 - 0.2953 - 1220.08000
8.73-8.23 0.3438 - 0.3241 11/32” 1220.08732
9.00 - 8.50* 0.3543 - 0.3347 - 1220.09000
9.53-9.03 0.3750 - 0.3553 3/8" 1220.09532
10.00 - 9.50* 0.3937 - 0.3740 - 1220.10000
10.32 - 9.82 0.4063 - 0.3866 13/32” 1220.10322
11.00 - 10.50* 0.4331 - 0.4134 - 1220.11000
11.11 - 10.61 0.4375 - 0.4178 7/16 1220.11112
11.91 - 11.41 0.4687 - 0.4491 15/32” 1220.11912
12.00 - 11.50* 0.4724 - 0.4528 - 1220.12000
12.70 - 12.20 0.5000 - 0.4803 12" 1220.12702
13.00 - 12.50* 0.5118 - 0.4921 - 1220.13000

ER20-DMEkzh#EE < 0.006 mm

« FUOHIZKA - SRR A SZ 3008 IHI& &
- JRERABERARGFR » PULEIH KR
*REARTE R MR TR

il11



ER25-DM.E 7k & 3=

REGO-FIX®

DIN 6499/ 1SO 15488

FisEE o ER25-DM S
mm inch linch] | FRHS
e——
5.56 ho 0.2188h9 7132 1225.05562 ;
6.00 h9* 0.2362 ho - 1225.06000 ~I_J
6.3509 0.2500 h9 1/4 1225.06352 W ER-DM
7.00 h9 0.2756 ho - 1225.07000 C— 1Ky 3
7.14 h9 0.2813 ho 9/32 1225.07142
7.94-7.44 0.3125 - 0.2929 5/16" 1225.07942
8.00 - 7.50* 0.3150 - 0.2953 ; 1225.08000
8.73-8.23 0.3438 - 0.3241 1320 | 1225.08732
9.00 - 8.50% 0.3543 - 0.3347 - 1225.09000
9.53-9.03 0.3750 - 03553 38" 1225.09532
10.00-9.50% | 0.3937-0.3740 - 1225.10000
1032-9.82 0.4063-0.3866 | 1332° | 1225.10322
11.00-10.50 | 0.4331-0.4134 ; 1225.11000
11.11 - 1061 0.4375-0.4178 71167 1225.11112
11.91 - 11.41 0.4687-04491 | 1532> | 1225.11912
12.00- 11.50% | 0.4724 - 0.4528 - 1225.12000
12701220 | 0.5000 - 0.4803 12" 1225.12702
13.00-12.50 | 0.5118-0.4921 - 1225.13000
13.49-1299 | 05313-05116 | 1732° | 1225.1349
14.00- 13.50¢ | 0.5512-0.5315 - 1225.14000
1429-13.79 | 0.5625-0.5428 9/16” 1225.14292
15.00- 1450 | 0.5905 - 0.5709 - 1225.15000
15.08-14.58 | 0.5934-0.5741 1932" | 1225.15082
15881538 | 0.6250-0.6055 5/8” 1225.15882
16.00-15.50% |  0.6299 - 0.6102 - 1225.16000

ER25-DMEkEI#5E < 0.006 mm

/O HIZKA - SRR A Z 3008 JIHRE
TJERAIBERAR R » PUXE|H KR
* R ERLH AT & B3 4 R ER32-DMLE 7K i 3%

il12



REGO-FIX®

ER32-DMLE 7Kk &3

FhEH (/] ER32-DM
mm inch linch] | 7@%HES
6.00 h9* 0.2362 h9 - 1232.06000
6.35 h9 0.2500 h9 1/4 1232.06352
7.00 h9 0.2756 h9 - 1232.07000
7.14 19 0.2813 h9 9/32” 1232.07142
7.94 -7.44 0.3125 - 0.2928 5/16" 1232.07942
8.00 - 7.50* 0.3150 - 0.2953 - 1232.08000
8.73 - 8.23 0.3438 - 0.3241 11/32” 1232.08732
9.00 - 8.50 0.3543 - 0.3347 - 1232.09000
9.53-9.03 0.3750 - 0.3553 3/8" 1232.09532
10.00 - 9.50* 0.3937 - 0.3740 - 1232.10000
10.32-9.82 0.4063 - 0.3866 13/32” 1232.10322
11.00 - 10.50 0.4331-0.4134 - 1232.11000
11.11 - 10.61 0.4375-0.4178 7/16” 1232.11112
11.91 - 11.41 0.4687 - 0.4491 15/32” 1232.11912
12.00 - 11.50* 0.4724 - 0.4528 - 1232.12000
12.70 - 12.20 0.5000 - 0.4803 12" 1232.12702
13.00 - 12.50 0.5118 - 0.4921 - 1232.13000
13.49 - 12.99 0.5313 - 0.5116 17/32” 1232.13492
14.00 - 13.50* 0.5512 - 0.5315 = 1232.14000
14.29 - 13.79 0.5625 - 0.5428 9/16” 1232.14292
15.00 - 14.50 0.5905 - 0.5709 - 1232.15000
15.08 - 14.58 0.5934 - 0.5741 19/32" 1232.15082
15.88 - 15.38 0.6250 - 0.6055 5/8” 1232.15882
16.00 - 15.50* 0.6299 - 0.6102 - 1232.16000
16.67 - 16.17 0.6563 - 0.6366 21/32” 1232.16672
17.00 - 16.50 0.6693 - 0.6496 - 1232.17000
17.46 - 16.96 0.6875 - 0.6678 11/16” 1232.17462
18.00 - 17.50* 0.7087 - 0.6890 - 1232.18000
18.26 - 17.76 0.7188 - 0.6991 23/32” 1232.18262
19.00 - 18.50 0.7480 - 0.7284 - 1232.19000
19.05 - 18.55 0.7500 - 0.7303 3/4” 1232.19052
20.00 - 19.50* 0.7874 - 0.7677 = 1232.20000

il13

DIN 6499/ 1SO 15488

| ]
= 3
| ) [
.\r-’]"/ ER-DM
— 1k e

ER32-DMBkEI#EE < 0.006 mm
O SARRA 3008 HIH]R &
TIERAIBERAGR - DURE|H KR
*REBAFEHEMEE R



ER40-DMLE 7k &5

REGO-FIX®

FiuH (] ER40-DM
mm inch [inch] | P=m#wS
6.00 h9 0.2362 h9 - 1240.06000
6.35h9 0.2500 h9 1/4 1240.06352
7.94 h9 0.3125 h9 5/16" 1240.07942
8.00 h9 0.3150 h9 - 1240.08000
9.53-9.03 0.3750 - 0.3553 3/8" 1240.09532
10.00 - 9.50 0.3937 - 0.3740 - 1240.10000
11.00 - 10.50 0.4331-0.4134 = 1240.11000
11.11 - 10.61 0.4375-0.4178 7/16” 1240.11112
12.00 - 11.50 0.4724 - 0.4528 - 1240.12000
12.70 - 12.20 0.5000 - 0.4803 12" 1240.12702
13.00 - 12.50 0.5118 - 0.4921 - 1240.13000
14.00 - 13.50 0.5512 - 0.5315 - 1240.14000
14.29 - 13.79 0.5625 - 0.5428 9/16” 1240.14292
15.00 - 14.50 0.5905 - 0.5709 - 1240.15000
15.88 - 15.38 0.6250 - 0.6055 5/8” 1240.15882
16.00 - 15.50* 0.6299 - 0.6102 - 1240.16000
17.00 - 16.50 0.6693 - 0.6496 - 1240.17000
17.46 - 16.96 0.6875 - 0.6678 11/16” 1240.17462
18.00 - 17.50* 0.7087 - 0.6890 - 1240.18000
19.00 - 18.50 0.7480 - 0.7284 - 1240.19000
19.05 - 18.55 0.7500 - 0.7303 3/4” 1240.19052
20.00 - 19.50 0.7874 - 0.7677 - 1240.20000
20.64 -20.14 0.8123 - 0.7928 13/16” 1240.20642
21.00 - 20.50 0.8268 - 0.8071 - 1240.21000
22.00 -21.50 0.8661 - 0.8465 - 1240.22000
22.23-21.73 0.8750 - 0.8553 /8" 1240.22232
23.00 - 22.50 0.9055 - 0.8858 - 1240.23000
24.00 - 23.50 0.9449 - 0.9252 - 1240.24000
25.00 - 24.50 0.9843 - 0.9646 = 1240.25000
25.40 - 24.90 1.0000 - 0.9803 1" 1240.25402
26.00 - 25.50 1.0236 - 1.0039 - 1240.26000

DIN 6499/ 1SO 15488

ER40-DMBkz#5E < 0.006 mm

O HKE - SRR AZ 3008 FIHI R E
TIERAIRERAG R » DURE|H KR
*REBAFEHEEMERE R

il.14



REGO-FIX®

ER-GBIA 24 f3 3k

. [m] 2 (=)
A o T o | -4 ot
-5& FHIERTE 2DIN6499 /ISO 15488
I KJ;‘
(7] O o
[mm] [mm] 7R/ ER11-GB | ER16-GB | ER20-GB | ER25-GB | ER32-GB | ER40-GB | ER50-GB
2.5 2.12.0 DIN/ISO |1411.02500 - - - - - -
2.8 2.1 DIN 1411.02800 - - - - - -
3.5 2.7 DIN 1411.03500 - - - - - -
4.0 3.0 DIN 1411.04000 - - - - - -
4.0 3.15/3.2 ISO,JIS |1411.04002 |1416.04002 |1420.04002 |1425.04002 |1432.04002 - -
4.5 3.4 DIN 1411.04500 |1416.04500 |1420.04500 |1425.04500 |1432.04500 - -
5.0 4.0 ISOJIS |1411.05002 |1416.05002 |1420.05002 |1425.05002 |1432.05002 - -
5.5 4.3 DIN - 1416.05500 |1420.05500 [1425.05500 |1432.05500 - -
5.5 4.5 JIS - 1416.05501 [1420.05501 |1425.05501 [1432.05501 - -
6.0 4.5 JIS - 1416.06001 |1420.06001 |1425.06001 |1432.06001 |1440.06001 -
6.0 49 DIN 1411.06000 |1416.06000 |1420.06000 |1425.06000 |1432.06000 |1440.06000 -
6.2 5.0 JIS - 1416.06201 [1420.06201 [1425.06201 |1432.06201 |1440.06201 -
6.3 5.0 1SO - 1416.06302 |1420.06302 |1425.06302 |1432.06302 |1440.06302 -
7.0 5.5 DIN,JIS - 1416.07000 |1420.07000 |1425.07000 |[1432.07000 |1440.07000 -
7.1 5.6 ISO - 1416.07102 |1420.07102 [1425.07102 [1432.07102 |1440.07102 -
8.0 6.2/6.3 DIN,ISO - 1416.08000 |1420.08000 |1425.08000 |1432.08000 |1440.08000 -
8.5 6.5 JIS - 1416.08501 |1420.08501 [1425.08501 |1432.08501 |1440.08501 -
9.0 7.0/7.1 DIN,ISO - 1416.09000 |1420.09000 |[1425.09000 |[1432.09000 |1440.09000 -
10.0 8.0 DIN,ISO - - 1420.10000 |1425.10000 |1432.10000 |1440.10000 -
10.5 8.0 JIS - - 1420.10501 |1425.10501 |1432.10501 |1440.10501 -
11.0 9.0 DIN - - 1420.11000 |1425.11000 [1432.11000 |1440.11000 -
11.2 9.0 I1SO - - 1420.11202 |1425.11202 |1432.11202 |1440.11202 -
12.0 9.0 DIN - - 1420.12000 |1425.12000 |1432.12000 |1440.12000 -
12.5 10.0 1SO,JIS - - - 1425.12502 [1432.12502 [1440.12502 -
14.0 11.0/11.2 IN,ISO,JIS - - - 1425.14000 [1432.14000 |1440.14000 -
15.0 12.0 JIS - - - 1425.15001 |1432.15001 |1440.15001 -
16.0 12.0/12.5 DIN,ISO - - - 1425.16000 [1432.16000 |1440.16000 -
17.0 13.0 JIS - - - - 1432.17001 |1440.17001 -
18.0 14.0/14.5 DIN,ISO - - - - 1432.18000 |1440.18000 -
20.0 16.0 DIN,ISO - - - - 1432.20000 |1440.20000 -
22.0 18.0 DIN - - - - - 1440.22000 |1450.22000
25.0 20.0 DIN - - - - - - 1450.25000
28.0 22.0 DIN - - - - - - 1450.28000
32.0 24.0 DIN - - - - - - 1450.32000

il15



REGO-FIX®

ET1Tj22 5k

- HHE M2
-ET1-125ER1 A A
BRI AE R
rrede) kR ET1-12 ET1-16 ET1-20 ET1-25 ET1-32 ET1-40
[mm] FRET | FRES | FRES | FRES | FRSS | FRSS
1.40 DIN 1512.01400 1516.01400 - - - -
1.60 DIN 1512.01600 1516.01600 - - - -
1.80 DIN 1512.01800 1516.01800 - - - -
2.00 ISO 1512.02000 1516.02000 - - - -
2.20 DIN 1512.02200 1516.02200 1520.02200 - - -
2.24 I1SO 1512.02240 1516.02240 1520.02240 - = =
2.50 DIN, ISO 1512.02500 1516.02500 1520.02500 1525.02500 - -
2.80 DIN, ISO 1512.02800 1516.02800 1520.02800 1525.02800 - -
3.00 JIS 1512.03000 1516.03000 1520.03000 1525.03000 - -
3.15 1SO 1512.03150 1516.03150 1520.03150 1525.03150 - -
3.50 DIN 1512.03500 1516.03500 1520.03500 1525.03500 - -
3.55 ISO 1512.03550 1516.03550 1520.03550 1525.03550 - -
4.00 DIN, ISO, JIS - 1516.04000 1520.04000 1525.04000 - -
4.50 DIN, ISO - 1516.04500 1520.04500 1525.04500 1532.04500 -
5.00 ISO, JIS - 1516.05000 1520.05000 1525.05000 1532.05000 -
5.50 DIN, ISO - 1516.05500 1520.05500 1525.05500 1532.05500 -
5.60 ISO - 1516.05600 1520.05600 1525.05600 1532.05600 -
6.00 DIN, JIS - 1516.06000 1520.06000 1525.06000 1532.06000 1540.06000
6.20 JIS - 1516.06200 1520.06200 1525.06200 1532.06200 1540.06200
6.30 ISO - 1516.06300 1520.06300 1525.06300 1532.06300 1540.06300
7.00 DIN, JIS - - 1520.07000 1525.07000 1532.07000 1540.07000
7.10 ISO - - - 1525.07100 1532.07100 1540.07100
8.00 DIN, ISO, JIS - - - 1525.08000 1532.08000 1540.08000
8.50 JIS - - - 1525.08500 1532.08500 1540.08500
9.00 DIN, ISO - - - 1525.09000 1532.09000 1540.09000
10.00 DIN, ISO - - - 1525.10000 1532.10000 1540.10000
10.50 JIS - - - - 1532.10500 1540.10500
11.00 DIN - - - - 1532.11000 1540.11000
11.20 1SO - - - - 1532.11200 1540.11200
12.00 DIN - - - - 1532.12000 1540.12000
12.50 ISO, JIS - - - - 1532.12500 1540.12500
14.00 DIN, ISO, JIS - - - - - 1540.14000
15.00 JIS - - - - - 1540.15000
16.00 DIN, ISO - - - - - 1540.16000
17.00 JIS - - - - - 1540.17000

il.16



{{clo b ) &

ERJIH#

o -l 4

« it AR AEER 7 e J 1) 3

ol AR R AT A

MBS AL S

1P B I F AT3

«BkkS < 0.003 mm

BTHih F4G2.5 @ 22000 min-!
«SKIfi(TC)Z F-A§G2.5 @ 22000 min-!
“HSKH 5 F-5G2.5 @ 25000 min-!
AT AGAL ~ BEHI > AL > LA
B B T34 N L T RS- i) 1X80000 min-!
RUFM T > Hsh gt

*REGO-FIXTR[J& ~ JIHA ~ $RIE 5 I FAT e w45 Bk




REGO-FIX®

BT/ERJ]® MAS 403/ JIS B 6399

J 1 .

BT30/ER11x050* | 2130.11110 . 19 50 .

BT30/ER11x100H | 4130.11150 = 19 | 100 | FWR225

BT30/ER16x050* |2130.11610 = 28 50 = Type RR L

BT30/ER16x080H [ 4130.11640 . 28 80 FWR285 Form A+AD

BT30/ER16x100H | 4130.11650 . 28 | 100 | FWR285

BT30/ERA20x022* |2130.12007 . = 22 =

BT30/ER20x050* | 2130.12010 . 34 50 .

BT30/ER20x070H | 4130.12030 . 34 70 FWR325

BT30/ER20x100H | 4130.12050 . 34 | 100 | FWR325

BT30/ER25x060H | 4130.12520 . 42 | 625 | FWR325

BT30/ER25x100H | 4130.12550 = 42 | 100 | FWR325

BT30/ER32x060* | 2130.13220 = 50 60 =

BT30/ER32x100H | 4130.13250 - 50 | 100 | FWR405
Type ERA Zero-Z®
Form A+AD

BT40/ER11x100H | 4140.11150 . 19 | 100 | FWR285

BT40/ER11x160H | 4140.11180 = 19 | 160 | FWR285

BT40/ER16x070H | 4140.11630 |4140.11633 | 28 70 FWR285

BT40/ER16x100H | 4140.11650 |4140.11653 28 100 FWR285

BT40/ER16x160H | 4140.11680 |4140.11683 28 160 | FWR285/225

BT40/ER20x070H | 4140.12030 |4140.12033 34 70 FWR325

BT40/ER20x100H | 4140.12050 |4140.12053 34 100 FWR285

BT40/ER20x160H | 4140.12080 |4140.12083 34 160 | FWR405/285

BT40/ER25x070H | 4140.12530 |4140.12533 42 70 FWR405

BT40/ER25x100H | 4140.12550 |4140.12553 42 100 FWRA405

BT40/ER25x160H | 4140.12580 |4140.12583 42 160 |FWR405/325

BT40/ERA32x027* |2140.13207 - - 27 -

BT40/ER32x070H | 4140.13230 |4140.13233 50 70 FWR405

BT40/ER32x100H | 4140.13250 |4140.13253 50 100 FWR405

BT40/ER32x160H | 4140.13280 |4140.13283 50 160 | FWR405/325

BT40/ER40x080* | 2140.14040 |2140.14043 63 80 -

BT40/ER40x100H | 4140.14050 |4140.14053 63 100 FWRS505

BT40/ER40x160H | 4140.14080 |4140.14083 63 160 FWRS505/505
« HATEMBIFEIR
*BE(E B AR
. ¥5F0.003 mm
. HFEIEXFG2.5 @ 22000 min

il.18



REGO-FIX®

1) 1 _
BT50/ER16x100H | 4150.11650 [4150.11653 | 28 100 FWRS505
BT50/ER16x160H | 4150.11680 [4150.11683 | 28 160 | FWR505/225
BT50/ER20x070% [2150.12030 [2150.12033 | 34 70 =
BT50/ER20x100H | 4150.12050 |4150.12053 | 34 100 FWR325
BT50/ER25x070* | 2150.12530 - 42 70 =
BT50/ER25x100H [ 4150.12550 [4150.12553 | 42 100 FWRA405
BT50/ER25x160H | 4150.12580 |4150.12583 | 42 160 | FWR405/325
BT50/ER32x100H | 4150.13250 |4150.13253 | 50 100 FWR505
BTS50/ER32x160H |4150.13280 |4150.13283 | 50 160 | FWR505/225
BT50/ER40x100H [4150.14050 |4150.14053 | 63 100 FWR505
BT50/ER40x160H | 4150.14080 |4150.14083 | 63 160 FWRS505
BT50/ER50x100% | 2150.15050 - 78 100 S
« HA AT 3R B SR

. *TREfE AT IR

¥£0.003 mm

. HEEHXFG2.5 @ 22000 min-!

BT-OM/ER

1]
s AZ%’%'E [m?n] [mLm] FR
BT-OM 30 /ER16 x 080H 4130.11648 28 80 FWR285
BT-OM 30 /ERA20 x 022* 2130.12008 34 22 -
BT-OM 30 /ER25 x 060H 4130.12528 42 62.5 FWR325
BT-OM 30 /ER32 x 060* 2130.13228 50 62.5

o EAENFEIRIT %ﬁHAAS%ﬂHURCOE’]CNCﬂuIEPMILfrﬁ ‘it
. Hjj—I"*1ﬂz=71$f§ﬁT\
o *TBEfE FBIEAIR

. %%r%o.oos mm

. FEEIXFG2.5 @ 22000 min-!

il19

MAS 403/ JIS B 6399

S -
w////////////\»';fm» :

i

Type BT-OM ERA Zero-Z®
Form A+AD




REGO-FIX®

DIN 69871

= A+ADE! | AD+BE! | D L
L WS | H= | mml|fmmp| TR

TC30/ER16x070H | 4230.11630 |4230.11633 28 70 FWR285

TC30/ER16x100H | 4230.11650 |4230.11653 28 100 FWR285

TC30/ER25x060H | 4230.12520 |4230.12523 42 60 FWR325

TC30/ER32x065* |2230.13220 |2230.13223 50 65 -

TC40/ER11x100H | 4240.11150 |4240.11153 19 100 FWR325

TC40/ER11x160H | 4240.11180 |4240.11183 19 160 FWR325

TC40/ER16x070H | 4240.11630 |4240.11633 | 28 70 FWR405

TC40/ER16x100H | 4240.11650 |4240.11653 28 100 FWR405 AD+BR!

TC40/ER16x160H | 4240.11680 |4240.11683 28 160 | FWR405/225

TC40/ER16x200H | 4240.11690 | 4240.1163 28 200 | FWR405/225

TC40/ER20x070H | 4240.12030 |4240.12033 | 34 70 FWR325

TC40/ER20x100H | 4240.12050 |4240.12053 34 100 FWR325

TC40/ER25x070H | 4240.12530 | 4240.12533 42 70 FWR405

TC40/ER25x100H | 4240.12550 | 4240.12553 42 100 FWRA405

TC40/ER25x160H | 4240.12580 |4240.12583 42 160 |FWR405/325

TC40/ER25x200H | 4240.12590 |4240.12593 42 200 | FWR405/325

TC40/ERA32x019* |2240.13207 - - 19 -

TC40/ER32x070H | 4240.13230 | 4240.13233 50 70 FWR405

TC40/ER32x100H | 4240.13250 | 4240.13253 50 100 FWR405

TC40/ER32x160H | 4240.13280 |4240.13283 50 160 | FWR405/405

TC40/ER32x200H | 4240.13290 |4240.13293 50 200 | FWR405/405

TC40/ER40x080*  |2240.14040 |2240.14043 63 80 -

TC40/ER40x100H | 4240.14050 |4240.14053 63 100 FWR505

TC40/ER40x160H | 4240.14080 |4240.14083 63 160 | FWR505/505

H A A S a3 & ER

*TBEfE FBE AR

¥5£0.003 mm

- FEEIXFIG2.5 @ 22000 min

5l.20



REGO-FIX®

TC/ERJIJ{H DIN 69871

= A+ADE! | AD+BE! D L
== %5 | S |wm| | TEF

TCS50/ER16x100H | 4250.11650 | 4250.11653 28 100 FWRS505

TC50/ER16x160H | 4250.11680 |[4250.11683 28 160 | FWR505/225

TCS50/ER16x200H | 4250.11690 | 4250.11693 28 200 |FWR505/225

TCS50/ER20x070H | 4250.12030 |4250.12033 34 70 FWR325

A+ADE

TCS50/ER20x100H | 4250.12050 |4250.12053 34 100 FWR325

TC50/ER25x070H | 4250.12530 |4250.12533 | 42 70 FWR405 /1\ -
TC50/ER25x100H | 4250.12550 |4250.12553 | 42 100 FWRA405 ”"llw -
TC50/ER25x160H | 4250.12580 |4250.12583 | 42 160 | FWR405/325 nIH
TC50/ER25x200H | 4250.12590 |4250.12593 | 42 | 200 |FWR405/325 L
TC50/ER32x100H | 4250.13250 |4250.13253 | 50 100 FWRS505 AD+BH!

TCS50/ER32x160H | 4250.13280 |4250.13283 50 160 | FWR505/405

TCS50/ER32x200H | 4250.13290 |4250.13293 50 200 | FWR505/405

TCS50/ER40x100H | 4250.14050 |4250.14053 63 100 FWRS505

TC50/ER40x160H | 4250.14080 |4250.14083 63 160 | FWR505/505

TC50/ER40x200H | 4250.14090 |4250.14093 63 200 | FWR505/505

TC50/ER50x100* | 2250.15050 - 78 100 -

- HATT MBI EIR

o *TEEfFEFBIEEIR

¥£0.003 mm

- FEEIXFIG2.5 @ 22000 min!

il.21



REGO-FIX®

DIN 69893/ 1SO 12164

HSK-A/ER 711/

1 _

s A*é%%i o) | o | FE
HSK-A 32/ER11x050* 2532.11110 19 50 -
HSK-A 32/ER16x060* 2532.11620 28 60 -
HSK-A 32/ER20x060* 2532.12020 34 60 -
HSK-A 32/ER25x065* 2532.12520 42 65 -
HSK-A 40/ER16x080H 4540.11640 28 80 FWR225
HSK-A 40/ER25x080H 4540.12540 42 80 FWR325
HSK-A 50/ER16x100H 4550.11650 28 100 FWR325
HSK-A 50/ER25x080H 4550.12540 42 80 FWR325
HSK-A 50/ER25x100H 4550.12550 42 100 FWR325
HSK-A 50/ER32x100H 4550.13250 50 100 FWR405
HSK-A 63/ER11x100H 4563.11150 19 100 FWR325
HSK-A 63/ER16x080H 4563.11640 28 80 FWR325
HSK-A 63/ER16x100H 4563.11650 28 100 FWR325
HSK-A 63/ER16x160H 4563.11680 28 160 FWR325/225
HSK-A 63/ER20x075* 2563.12030 34 75 -
HSK-A 63/ER25x080H 4563.12540 42 80 FWR325
HSK-A 63/ER25x100H 4563.12550 42 100 FWR325
HSK-A 63/ER25x160H 4563.12580 42 160 FWR325
HSK-A 63/ER25x200H 4563.12590 42 200 FWR325/325
HSK-A 63/ER32x080H 4563.13240 50 80 FWR405
HSK-A 63/ER32x100H 4563.13250 50 100 FWR405
HSK-A 63/ER32x160H 4563.13280 50 160 FWR405
HSK-A 63/ER32x200H 4563.13290 50 200 FWR405/405
HSK-A 63/ER40x080* 2563.14040 63 80 =
HSK-A 63/ER40x120H 4563.14060 63 120 FWR405
HSK-A 63/ER40x160H 4563.14080 63 160 FWR505

- HAR] SR Am B &R
*BEfE AT FEER

¥5E0.003 mm
FhEAEHAF|G2.5 @ 25000 min
O K EEMKSRS 2E

§l.22



{Jclo b ) &

HSK-A/ER 7]/ DIN 69893/ ISO 12164

1 .

as A%‘%i [ml::nl [mLm] R
HSK-A 80/ER16x100H | 4580.11650 28 100 FWR325
HSK-A 80/ER16x160H | 4580.11680 28 160 FWR325/225
HSK-A 80/ER32x100H | 4580.13250 50 100 FWR405
HSK-A 80/ER40x120H | 4580.14060 63 120 FWR505
HSK-A 100/ER16x100H | 4500.11650 28 100 FWR405
HSK-A 100/ER16x160H | 4500.11680 28 160 FWR405/225
HSK-A 100/ER16x200H | 4500.11690 28 200 FWR405/225
HSK-A 100/ER25x100H | 4500.12550 42 100 FWR405
HSK-A 100/ER25x160H | 4500.12580 42 160 FWR405/325
HSK-A 100/ER25x200H | 4500.12590 42 200 FWR405/225
HSK-A 100/ER32x100H | 4500.13250 50 100 FWR405
HSK-A 100/ER32x160H | 4500.13280 50 160 FWR405
HSK-A 100/ER40x120H | 4500.14060 63 120 FWR505
HSK-A 100/ER40x200H | 4500.14090 63 200 FWR505/505

HSK-A 125 HiTH

- HATRMBIEEIR

o *TEEFFBIEEIR

. ¥5£0.003 mm

. FIFEILFIG2.5 @ 25000 min!
- FIOHKEREMKSRAHE

il.23



REGO-FIX®

HSK-C/ER 7]/ DIN 69893/ ISO 12164

= 1
=% A.'ég-%& [mDm] [ml;n]
HSK-C32/ER16x060 2532.11622 28 60 1
HSK-C32/ER20%060 2532.12022 34 65
HSK-C32/ER25x070 2532.12532 42 70 — ]
HSK-C40/ER20x060 2540.12022 34 60
HSK-C40/ER25x070 2540.12532 'y} 70
HSK-C40/ER32x075 2540.13232 50 75
HSK-C50/ER25x070 2550.12532 'y} 70
HSK-C50/ER32x075 2550.13232 50 75
HSK-C50/ER40x080 2550.14042 63 80
HSK-C63/ER32x075 2563.13232 50 75
HSK-C63/ER40x080 2563.14042 63 80
HSK-C80 HiTH
HSK-C100 BT
HSK-C125 HiTH
« HA AT 3R B 3R
« *TBEfE ABIEERR

F££0.003 mm
. FEEILFIG2.5 @ 25000 min!
o FOHIKEEFBKSRAHE

il.24



REGO-FIX®

HSK-E/ER J]#f DIN 69893/ 1SO 12164
HSK-F/ER J1{#

s A*Z.ﬁegﬂ [mr:n] [mLm] TR
HSK-E25/ER16Mx048 2525.11618 22 48 -
HSK-E32/ER16Mx060 2532.11628 22 60 -
HSK-E32/ER20Mx060 2532.12028 28 60 -
HSK-E40/ER11x060H 4540.11124 19 60 FWR225
HSK-E40/ER16x060H 4540.11624 28 60 FWR225
HSK-E40/ER16x080H 4540.11644 28 80 FWR225
HSK-E40/ER20Mx075H | 4540.12038 28 75 FWR285
HSK-E40/ER25Mx080H | 4540.12548 35 80 FWR325
HSK-E50/ER16x060* 2550.11624 28 60 -
HSK-E50/ER16x100H 4550.11654 28 100 FWR325
HSK-E50/ER16x160H 4550.11684 28 160 FWR325/225
HSK-E50/ER20x070H 4550.12034 34 70 FWR325
HSK-ES0/ER25x080H 4550.12544 42 80 FWR325
HSK-ES0/ER25x100H 4550.12554 42 100 FWR325
HSK-ES0/ER32x100H 4550.13254 50 100 FWRA405
HSK-E50/ER32x160H 4550.13284 50 160 FWR405
HSK-E63/ER32x090H 4563.13244 50 90 FWR405
HSK-E63/ER40x080* 2563.14044 63 80 -
HSK-E63/ER40x120H 4563.14064 63 120 FWRS505
HSK-F63/ER16x100H 4563.11655 28 100 FWR325
HSK-F63/ER32x100H 4563.13255 50 100 FWR405

« HATEMBIFEER
*REEfE B &R

¥5E <0.003 mm
FEEHLFG2.5 @ 25000 min-
- FILHKEREMKSRAHE

5l.25



REGO-FIX®

HSK-E/ER MS DIN 69893/ ISO 12164
BRI

7}
25 A;ﬁ?-gi [mDm] [ml;n]
L =
HSK-E25/ER11 MSx035 2525.11109 16 35
HSK-E32/ER11 MSx038 2532.11109 16 38
HSK-E40/ER11 MSx040 2540.11119 16 40 :

. BEFEEER MSHZIFE

. SENFHCNCHIIH L{FH

- B EEEA]IA80000 min-1

. AI¥EECER-NDR&R(1.08) @ MIAFIREREE

HSK-A SSY/ERC

me A+ADZE! D L E4% | K | sw
WS [mm] | [mm] | [mm] | [mm] | [mm]
—OH—

HSK-A63 SSY / ERC20 | 2563.62000 34 95.5 0.5 0.5 19

HSK-A63 SSY /ERC32 | 2563.63200 50 108.8 0.5 0.5 32

- RIS ER

. FE{# AHIQ/ERCIZIE 5K EER

. EZER-GBRIMINF Gk

. BfUNEGEE - HMERIS T IRE
. AT L E150%

e N

#4500 min’! 3142000 min"'
200 20
5% —_ B®
200 % P yalva
15 22 £ " f
1200 Vi F m
S0 y 4 S0 4
° / e ) e O -
9 65 1 15 2 25 3 35 & 45 S S5 & § 05 1 15 2 25 3 35 & 45 S S5 &
R 1E (#) B E (#)
REGO-FIX® BB BF Rk
HL 1t 535 NI BUF =3k
RN T R 32 3k

il.26



REGO-FIX®

CAPTO/ERJ]R® 190 26623
s D L )
iu:u A'I'Aggi
= Py il | EEIR
C3/ER16x045*% 2803.11610 28 45 . - i
C3/ER20x045* 2803.12010 34 45 ; e T _ .
( 1
| 1]
C4/ER16x070* 2804.11630 28 70 ;
C4/ER20x052* 2804.12010 34 52 - L
C4/ER25x052* 2804.12510 | 42 52 ; e
- HATEMEBIFEIR
C4/ER32x054* 2804.13210 50 54 ; . *TNBE(E RN AER
. ¥E0.003 mm
. EARAT in-1
CS/ER16x070H 4805.11630 28 70 FWR285 HFATILEIG2.5 @ 25000 min
CS/ER16x100H 480511650 | 28 100 FWR285
C5/ER20x055* 2805.12010 34 55 ;
CS/ER20x100H 4805.12050 34 100 FWR325
C5/ER25x055* 2805.12510 | 42 55 )
CS/ER25x100H 480512550 | 42 100 FWRA405
C5/ER32x057* 2805.13210 50 57 ;
CS/ER32x070H 4805.13230 50 70 FWRA405
CS/ER32x100H 4805.13250 50 100 FWRA405
C6/ER11x150H 4806.11170 19 150 FWR325
C6/ER16x070H 4806.11630 | 28 70 FWR325
C6/ER16x100H 480611650 | 28 100 FWR325
C6/ER16x150H 4806.11670 28 150 FWR325
C6/ER20x060* 2806.12020 34 60 )
C6/ER25x060* 2806.12520 | 42 60 .
C6/ER25x100H 480612550 | 42 100 FWRA405
C6/ER25x130H 4806.12560 | 42 130 FWR405
C6/ER32x060* 2806.13220 50 60 ;
C6/ER32x070H 4806.13230 50 70 FWRA405
C6/ER32x100H 4806.13250 50 100 FWRS05
C6/ER40X065* 2806,14020 63 65 ;
C8/ER25x070* 2808.12530 | 42 70 ;
C8/ER32x070* 2808.13230 50 70 ;
C8/ER40X070* 2808.14030 63 70 )
C8/ER50x080* 2808.15040 78 80 ;

827



REGO-FIX®

CYL/ER
A
IVE TSk

e me D D1h6 L L1 G p
[mm] | [mm] | [mm] | [mm] | [mm]
= T I
CYL 1/2"x70/ER11 2613.11141 19 12.7 28.5 70 M6
CYL 1/2"x100/ER 16 2613.11661 28 12.7 36.0 100 M6 L1 L

CYL 1/2"x100/ER20 2613.12061 34 12.7 44.5 100 M6

CYL 14x060/ER16 2614.11630 28 14 36.5 60 M6

CYL 16x060/ER16 2616.11630 28 16 36.5 60 M8x1

CYL 5/8"x060/ER16 2616.11631 28 15.875 | 36.5 60 M8x1

CYL 5/8"x100/ER20 2616.12061 34 15.875 | 44.5 100 M8x1

CYL 3/4"x050/ER16 2619.11621 28 19.05 | 30.5 50 MI2x1

CYL 3/4"x100/ER16 2619.11661 28 19.05 | 30.5 100 MI2x1

CYL 3/4"x060/ER20 2619.12031 34 19.05 | 36.5 60 Mi12x1

CYL 3/4"x050/ER25 2619.12521 42 19.05 | 47.0 50 Mi12x1

CYL 20x050/ER16 2620.11620 28 20 30.5 50 MI12x1

CYL 20x100/ER16 2620.11660 28 20 30.5 100 M12x1

CYL 20x030/ER20 2620.12010 | 34 20 36.5 30 Mi12x1

CYL 20x060/ER20 2620.12030 | 34 20 36.5 60 MI2x1

CYL 20x050/ER25 2620.12520 42 20 47.0 50 MI2x1

CYL 20x100/ER25 2620.12560 | 42 20 47.0 100 M12x1

CYL 20x050/ER32 2620.13220 50 20 54.0 50 Mi12x1

CYL 20x100/ER32 2620.13260 50 20 54.0 100 MI2x1

CYL 1"x100/ER20 2625.12061 34 25.40 | 39.5 100 MI2x1

CYL 1"x050/ER25 2625.12521 42 25.40 | 47.0 50 MI18x1.5

CYL 1"x100/ER25 2625.12561 42 2540 | 47.0 100 | M18x1.5

CYL 1"x050/ER32 2625.13221 50 2540 | 53.0 50 M18x1.5

CYL 1"x050/ER40 2625.14021 63 2540 | 60.0 50 M18x1.5

CYL 25x050/ER25 2625.12520 | 42 25 47.0 50 |MI18xL.5

CYL 25x100/ER25 2625.12560 | 42 25 47.0 100 | MI18x1.5

CYL 25x050/ER32 2625.13220 50 25 54.0 50 | MI18x1.5

CYL 25x050/ER40 2625.14020 | 63 25 60.0 50 | M18x1.5

CYL 30x050/ER25 2630.12520 | 42 30 42.0 50 | MI18x1.5

CYL 30x050/ER32 2630.13220 50 30 53.0 50 M22x1.5

CYL 1 1/4”x060/ER32 |2632.13231 50 31.75 | 53.0 60 M22x1.5

« ¥5E <0.003 mm
. {F FAHIQ/ERKR ARG

il.28



REGO-FIX®

CYLVER M
A
IVE S Sk

L1

£
=
s |8
e éﬁ = D D1h6 L L1 G = 1
= = [mm] | [mm] | [mm] | [mm] | [mm] | = 2
5|8
CYL 06x045/ER11M 2606.21120 16 6 26.5 45 -
CYL 07x045/ER11M 2607.21120 16 7 26.5 45 -
CYL 08x080/ER8M 2608.20850 12 8 26.0 80 -
CYL 08x056/ER11M 2608.21130 16 8 26.5 56 - [ ]

CYL 3/8"x070/ER8M | 2609.20841 12 9.52 23.0 70 M5

CYL 10x060/ER16M 261021630 22 10 38.5 60 -
CYL 12x080/ER8M 2612.20850 12 12 17.0 80 -
CYL 12x080/ER16M 261221650 22 12 38.5 80 -

CYL 1/2"x140/ER11IM | 2613.21191 16 12.7 29.5 140 M6

CYL 1/2"x140/ER16M | 2613.21691 22 12.7 37.0 140 M6

CYL 15x100/ER20M 2615.22060 28 15 42.5 100 -
CYL 16x150/ER11M 261621190 16 16 21.0 150 M8x1
CYL 16x100/ER20M 2616.22060 28 16 42.5 100 -

CYL 5/8"x150/ER11IM | 2616.21191 16 15.87 22.5 150 M8x1

CYL 3/4"x155/ER16M |2619.21691 22 19.05 26.5 155 M12x1

CYL 3/4"x100/ER25M | 2619.22561 35 19.05 47.0 100 MIi2x1

CYL 20x155/ER16M 2620.21690 22 20 26.5 155 M12x1

CYL 25x155/ER20M 2625.22090 28 25 26.5 155 M14x1

CYL 1"x155/ER20M 2625.22091 28 25.5 26.5 155 M14x1

. ¥5E <0.003 mm
. {FFHIQ/ER M4Z1g

il.29




CYL/ER M
FEARHF
MR

DI,

REGO-FIX®

L1

=
A HMNE
#S WS [mDm] 311\:3 [mLm] [r:l-:n] [me] g é § % |§
HEHEE
CYL5/8"x043/ERSMF 2616.20811 12 15.875 15 43 M5 [ ]
CYL16 x038/ER1IMF | 261621112 16 16 20 38 M8x1 [ ]
CYL16 x140/ER11MF | 261621192 16 16 60 140 M8x1
CYL16 x035/ER16MF | 261621612 22 16 38 35 M8x1 [ ]
CYL3/4"x115/ERIIMF | 261621173 16 19.05 20 115 M8x1 [ ]
CYL3/4"x038/ER16MF | 2616.21613 22 19.05 28 38 MI12x1 [ ]
CYL3/4"x050/ER16MF | 2616.21623 22 19.05 28 50 M12x1 [ ]
CYL3/4"x070/ER16MF | 2616.21643 22 19.05 28 70 M12x1 [ ]
CYL3/4"x120/ER16MF | 2616.21683 22 19.05 28 120 M12x1 [ ]
CYL3/4"x140/ER16MF | 2616.21693 22 19.05 28 140 M12x1 [ ]
CYL20 x050/ER16MF | 262021622 22 20 28 50 M12x1 [] []
CYL20 x070/ER16MF | 262021642 22 20 28 70 MI12x1 []
CYL20 x060/ER1IMF | 2620.21132 16 20 20 60 [ ]
CYL20 x120/ER16MF | 2620.21682 22 20 28 120 MI12x1 [ ]
CYL20 x140/ER16MF |2620.216892 22 20 8 140 M12x1 [ ] [ ]
CYL22 x038/ER16MF | 262221612 22 22 28 38 M12x1 [ ]
CYL22 x070/ER16MF | 2622.21642 22 22 28 70 M12x1 [ ]
CYL22 x100/ER16MF | 2622.21662 22 22 28 100 MI12x1 ]
CYL22 x080/ER20MF | 2622.22052 28 22 39 80 M12x1 [ ]
CYL22 x070/ER25MF | 2622.22542 35 22 47 70 M12x1 [ ]
CYL25 x065/ER16MF | 262521642 22 25 28 65 M12x1
CYL25 x100/ER20MF | 2625.22062 28 25 28 100 M14x1 [ ]
CYL25 x154/ER20MF | 2625.22002 28 25 28 154 M14x1 ]
CYL25 x075/ER25MF | 2625.22552 35 25 47 75 Ml14x1 []
CYL25 x145/ER25MF | 2625.22592 35 25 36 145 Ml14x1 [] [
CYL1" x033/ER16MF 262521613 22 254 28 33 MI12x1
CYL1" x065/ER16MF 2625.21643 22 254 28 65 M12x1 [ ]
CYL1" x075/ER16MF 262521653 22 25.4 28 75 M12x1 [ ]
CYL1" x100/ER16MF 2625.21663 22 25.4 28 100 M12x1 [ ]
CYL1" x100/ER20MF 2625.22063 28 25.4 28 100 M14x1 [ ] [ ]
CYL1" x140/ER20MF 2625.22093 28 25.4 28 140 M14x1 [ ]
CYL32 x070/ER25MF | 2632.22542 35 32 30 70 M18x1.5 []

. ¥5E <0.003 mm
. {FHHIQ/ER M#Z

1l.30



REGO-FIX®

CYD/ ER MF
FEAKHF
INMER K

£ =
= - D | pe | L Lo 8 E N I——
8BS WS [mm] | [mm] | [mm] | [mm] g S g ™
8| 8|8 L1
CYD5/8"x015/ERSMF 261620805 | 12 | 15875 | 45 5 |m L
CYD5/8"x025/ERSMF 261620895 | 12 | 15875 | 55 25 | m
CYD16x040/ER11MF 261621114 | 16 16 79 40 .
CYD16x050/ER11MF 261621124 | 16 16 90 50 .
CYD3/4’x040/ERIIMF | 261921125 | 16 | 19.05 | 80 40 |=
CYD3/4”070/ER11MF 261921145 | 16 [ 1905 | 110 | 70 |m
CYD3/4"x090/ERIIMF | 261921165 | 16 | 1905 | 130 | 90 | =
CYD3/4"x055/ERI6MF | 261921635 | 22 | 1905 | 107 55 |m
CYD20x030/ER11MF 262021114 | 16 20 70 30 |m
CYD20x050/ER11MF 262021124 | 16 20 90 50 |m
CYD20x055/ER16MF 262021634 | 22 20 107 | 55 |m
CYD22x055/ER16MF 262221634 | 22 22 11 55 .
CYD22x075/ER16MF 262221654 | 22 2 131 75 .
CYD25x062/ER16MF 262521634 | 22 25 n | e .
CYDI”x030/ER16MF 262521615 | 22 | 254 | 85 30 |m
CYDI”x062/ER16MF 262521635 | 22 | 254 | 118 62 . . ¥ <0.003 mm
CYD32x055/ER20MF 263222034 | 28 32 11 55 . - [ FHIQ/ER MERig
o ko WAk TIA
CYD32x075/ER20MF 263222054 | 28 32 131 75 .

CYL/ER NC _
FEAFF

R,
. 72280
g

D1

RS =

L1 L

m= e D | Dih6 | L L1 G
= = | (mm] | [(mm] | [mm] | (mm] | [mm]
CYL 32x060/ER25 NC [2632.12532 | 42 32 32 60 |M18x1.5
CYL 32x060/ER32 NC |2632.13232 | 50 32 38 60 |M22x1.5 .
x X . ¥E <0.003 mm
CYL 40x080/ER32 NC [2640.13252 | 50 40 33 80 |M22x1.5 . {FHHIQ/ERZIE

. |'!I ij_]. Sz ft I
CYL 40x075/ER40 NC | 2640.14052 63 40 55 75 M22x1.5 ﬂb J ;E*-T:F—ﬁ

il 31



REGO-FIX®

mi@ﬂﬂ CYL SSY/ERC DIN 1835 B+E
- [E) & I 7F 2k

A= pe D D1 L L1 | E4% | K | sw
= = | tmm] | [mm] | [mm] | (mm] | [mm] | [mm] | mm] | T =1
CYL25SSY/ERC20 | 2625.62000 | 34 25 73 57 | o5 | o5 19
CYL25SSY/ERC32 | 2625.63200 | 50 25 | 875 | 57 | 05 | 05 32 L L
- MM
. E{FFHHIQ/ERCHEIE SR /KEIR
. %%%ER-GBN'J'I@ISIZ‘%]% .
. BfUNEGEE - IAMERS T IRE
- AN 22 iR E)150%
%500 min! $%3#2000 min!
00 00
z 5% g 5% -
2000 o) /~\/1
é 1500 o ] é 1520
& oo Vi g o
S0 J 4 0
[ / - ———. [} _f‘* "_ﬂ\g
2 85 1 15 2 25 3 35 & &5 5 ss ¢ @ 05 1 1S 2 25 3 35S ¢ &5 S 55 ¢
rHia ) rHia )
REGO-FIX® BB GF Rk
HbE SRR Rk
Rt F 3R 3k
CYL GSF/ERC
TN oF 2 <k
AN [
& ] }ME Y 48
A= pe D D1 L L1 | &4 | B | sw
= = | (mm] | (mm] | [mm] | [mm] | [mm] | [mm] | mm] (=0 )
CYL 25 GSF/ERMC 20 | 2625.62001 28 25 85 57 5.0 7.5 24

CYL 25 GSF/ ERC 32 2625.63201 50 25 115 57 7.0 10..0 34

. EMRFFER
. ZE={F AHIQ/ERCIZNE 55 /KEIR
. HEZER-GBE*®

il.32



REGO-FIX®

Z e FKLPH/ER
Fo O H Ik

G
25 HZ | ot | pom) | o o il |
PH 5/8”/ERI1 |[2616.91102 | 22 15.88 38 0.8 36 34 . ‘
PH 16 /ERIl |2616.91100 | 22 16.00 38 0.8 36 34 a 4|I_ B e -
PH 3/4"/ER11 [2619.91102 | 22 19.05 38 0.8 36 34
PH20/ERI1  [2620.91100 | 22 20.00 38 0.8 36 34
PH22/ERI1  [2622.91100 | 22 22.00 38 0.8 36 34 = :

A BENE A
ﬁ?ﬁ%ﬁ?ﬂﬁ&%l
AeZEFHILFE) - A AN ZEIKE EHL
FEET] AR

WEZE R LB SRt

RERAE SR E S

Z 51323 PHC/ER
ﬁ¢m&*

G

s B% | oy | ) | o) o M
PH 5/8”/ER20 2616.92004 33 15.88 56 1.0 53.5 38 -
PH 16 /ER20 2616.92003 33 16.00 56 1.0 53.5 38 = I|7 - J ! e g
PH 3/4”/ER20 2619.92004 33 19.05 56 1.0 53.5 38 p
PH 20/ER20 2620.92003 33 20.00 56 1.0 53.5 38
PH 22/ER20 2622.92003 33 22.00 56 1.0 53.5 38 Ll L
PH 25/ER20 2625.92003 33 25.00 56 1.0 53.5 38
PH 1”/ER20 2625.92004 33 25.40 56 1.0 53.5 38
PHC 3/4”/ER32 2619.93204 46 19.05 70 1.5 64.5 46 o ﬂ l:I:l ’L.‘& 7J(

PHC 20/ER32 2620.93203 46 20.00 70 1.5 64.5 46 : %‘;é%&g&;{%@ﬁ’] TE

04 WZEhH s 47
PHC 22/ER32 2622.93203 46 22.00 70 1.5 64.5 46 * ’\EEE%HIL ’?KjJ AH H_J-'LL

B EIE
PHC25/ER32  [2625.93203 | 46 | 2500 | 70 | 15 | 645 | 46 - FHEAEE L

| BB LIRS A

PHC 17/ER32  [262593204 | 46 | 2540 | 70 15 | 645 | 46 < SRERALEhAR S
PHC 32/ER32 2632.93203 46 32 70 1.5 64.5 46
PHC 1 1/4”/ER32 | 2632.93204 46 31.75 70 1.5 64.5 46
PHC 1 3/4”/ER32 | 2644.93204 46 4445 70 1.5 64.5 46

il.33



REGO-FIX®

PHC/ER REGO-FIX CAPTO

Certified by Sandvik
me me D D2 31% o L L1
(mm] | [mm] | | mm] | [mm] — ot |
- — tel 8
PHC-C3 /ER20 2803.92003 33 56 0.8 91 53.5 a
PHC-C4 /ER20 2804.92003 33 56 0.8 91 56.5 r
PHC-C4 /ER32 2804.93203 46 70 0.8 100 64.0 L
- CAPTOM% - HTEHEEN
- YHEEN &R EA
- HTHFHRAMEN TR \
. HHFH/OFEN 0 AR IZEMREIEAHO
-#ﬂgjﬂ%
-ﬂiztmmmEEWMf
« RIRFNB IR AZE
N = N
ZEhISMPH/ERM
me me D | Dihe | D2 'E% s L L1
[mm] | [mm] | [mm] | o0 | [mm] | (mm] ————fSars e

MPH 8 / ER11M 2608.91107 16 8.0 25 0.5 35 42 ° L1 L

MPHI10 / ER11M 261091107 16 10.00 25 0.5 35 42

MPH16 / ER11M 2616.91107 16 16.00 25 0.5 35 42

MPH3/4” / ER1IM | 2619.91108 16 19.05 25 0.5 35 70

MPH20 / ER11M 2620.91107 16 20.00 25 0.5 35 42

MPH22 / ER11M 2622.91107 16 22.00 25 0.5 35 42

MPH25 / ER11M 2625.91107 16 25.00 25 0.5 35 42

MPH 17/ ER1IM 2625.91108 16 25.40 25 0.5 35 42

BR/NHDRTT o DA AN ZE ]

« M BN E T
 STFRFMRABRENTE

- AeEHFMOZEE)  AORZEREIERHLC
< SFHENIFE

. WERHF LB S8R

- RHKRIEDNH A S

1l.34



REGO-FIX®

ISO/ER J] R

y
25 B2 | o | o
1SO 20/ ERM11 x048 HASS 2420.11116 16 46
ISO 20/ ERM16 x053 HASS 242011616 2 53
1SO 20/ ERM20 x055 HASS 2420.12016 28 55

. ¥5E <0.003 mm
. BFEEHXFIG2.5 @ 25000 min-!

ER(M)/ERM
HERLBERE

e ge L L1 D1 D For
[mm] [mm] [mm] [mm] | Tornos
ER11M /ER8M 7161.11080 33 16.5 16 12 n
ER16M /ER11IM | 7161.16110 42.5 18.5 23 16 n
ER20M /ER16M | 7161.20160 55.5 28 28 22 n
ER25M /ER16M | 7161.25160 60.5 28 35 22 n
ER25M /ER20M | 7161.25200 60.5 28 35 28 n
ER11 /ER8M 7162.11080 33 16.5 19 12 n
ER20 /ER16M 7162.20160 55.5 28 34 22 n
ER25 /ER16M 7162.25160 60.5 28 42 22 n
ER25 /ER20M 7162.25200 60.5 28 42 28 n

- RIBIRTI ARG - AITRSLIRE LT
- KEME - TEKEATEYNEZELT

- BB RN - @Bt E AHIQERMIEIE B] BRI R/ NV B R ~F

5035

ERM/ERM#Y
Mini 2R 7

ER/ERM#Y
RRT

(=]

L1




1E7KIRADS/ER

REGO-FIX®

St © | DSER16 | DS/ER20 | DS/ER25 | DS/ER32 | DS/ER40
mm inch linch] | %S wS wmS wmS WS
3.00-2.50 | 0.1181-0.0984 | 3/32" | 391600300 | 3920.00300 | 3925.00300 | 3932.00300 | 3940.00300%
350-3.00 | 0.1378-0.1181 | 1/8” | 3916.00350% | 3920.00350% | 3925.00350% | 3932.00350* | 3940.00350*
400-3.50 | 0.1575-0.1378 | 5327 | 3916.00400* | 3920.00400% | 3925.00400% | 3932.00400% | 3940.00400*
450-400 | 0.1772-0.1575 | . | 3916.00450% | 3920.00450% | 3925.00450* | 3932.00450% | 3940.00450*
5.00-450 | 0.1969-0.1772 | 3/16” | 3916.00500% | 3920.00500% | 3925.00500% | 3932.00500% | 3940.00500%
550-5.00 | 02165:0.1969 | 7/32” | 3916.00550% | 3920.00550* | 3925.00550% | 3932.00550% | 3940.00550%
6.00-550 | 0236202165 | _ | 391600600 | 3920.00600* | 3925.00600% | 3932.00600% | 3940.00600*
6.50-6.00 | 0255902362 | 1/4” | 3916.00650% | 3920.00650* | 3925.00650% | 3932.00650% | 3940.00650*
7.00-650 | 0275602559 | _ | 3916.00700% | 3920.00700% | 3925.00700% | 3932.00700% | 3940.00700*
7.50-7.00 | 0295302756 | 9/32” | 3916.00750% | 3920.00750% | 3925.00750% | 3932.00750% | 3940.00750*
8.00-7.50 | 0315002053 | 5/16” | 3916.00800% | 3920.00800* | 3925.00800* | 3932.00800* | 3940.00800*
850-8.00 | 0334703150 | _ [ 3916.00850% | 3920.00850* | 3925.00850* | 3932.00850* | 3940.00850*
9.00-8.50 | 0354303347 | 11/32” | 3916.00900% | 3920.00900% | 3925.00900% | 3932.00900% | 3940.00900%
9.50-9.00 | 03740-03543 | 3/8” | 3916.00950% | 3920.00050% | 3925.00950% | 3932.00950* | 3940.00950%
10.00-950 | 0393703740 | _ | 3916.01000% | 3920.01000* | 3925.01000% | 3932.01000% | 3940.01000*
10.50-10.00 | 0.4134-0.3937 | 13/32” i 3920.01050% | 3925.01050% | 3932.01050% | 3940.01050*
11.00-10.50 | 0433004134 | _ i 3920.01100% | 3925.01100% | 3932.01100% | 3940.01100%
11.50-11.00 | 04528-0.4330 | 7/16” i 3920.01150% | 3925.01150% | 3932.01150% | 3940.01150*
12.00-11.50 | 0.4724-04528 | 15/32” i 3920.01200% | 3925.01200% | 3932.01200% | 3940.01200*
12.50-12.00 | 04921-04724 | _ ] 3920.01250% | 3925.01250% | 3932.01250% | 3940.01250%
13.00-12.50 | 05118-04921 | 1/2” ] 3920.01300% | 3925.01300% | 3932.01300% | 3940.01300%
- g T UHESE T I T
CRABAGSERR
. TERC KRG

1l.36



REGO-FIX®

Z$1I DS/ER

Pl © | DS/ER16 | DS/ER20 | DS/ER25 | DS/ER32 | DS/ER40
mm inch linch] | HS WS WS wmS WS

13.50-13.00 | 0.5315-0.5118 | 17/32” ] ] 3925.01350% | 3932.01350% | 3940.01350*
14.00-13.50 0.5512-0.5315 - - - 3925.01400 3932.01400 3940.01400*
14.50-14.00 0.5709-0.5512 9/16” - - 3925.01450* | 3932.01450* | 3940.01450*
15.00- 14.50 | 0.5905-0.5709 - R - 3925.01500* | 3932.01500% | 3940.01500*
15.50- 15.00 | 0.6102-0.5005 | 19/32” ] ] 3925.01550% | 3932.01550% | 3940.01550*
16.00- 15.50 | 0.6300-0.6102 | 5/8” . . 3925.01600% | 3932.01600% | 3940.01600*
16.50- 16.00 | 0.6496-0.6300 | _ ] ] 3925.01650% | 3932.01650% | 3940.01650*
17.00- 16.50 | 0.6693-0.6496 | 21/32” ] ] 3925.01700% | 3932.01700% | 3940.01700*
17.50- 17.00 | 0.6890-0.6693 | 11/16” - - 3925.01750* | 3932.01750% | 3940.01750*
18.00- 17.50 | 0.7087-0.6890 - R - 3925.01800* | 3932.01800* | 3940.01800*
18.50- 18.00 | 0.7284-0.7087 | 23/32” ] ] 3925.01850% | 3932.01850% | 3940.01850*
19.00- 18.50 | 0.7480-0.7284 | 3/4” . . 3925.01900% | 3932.01900% | 3940.01900*
19.50-19.00 | 0.7677-0.7480 | ] ] 3925.01950% | 3932.01950% | 3940.01950*
20.00-19.50 | 0.7874-0.7677 | 25/32 ] ] 3925.02000% | 3932.02000% | 3940.02000*
20.50-20.00 | 0.8071-0.7874 - - - - - 3940.02050*
21.00-20.50 | 0.8268-0.8071 | 13/16” R - - - 3940.02100*
21.50-21.00 | 0.8465-0.8268 | 27/32” ] ] ] ] 3940.02150*
22.00-2150 | 0.8661-0.8465 | _ . . ] ] 3940.02200*
22.50-22.00 | 0.8858-0.8661 | 7/8” ] ] ] ] 3940.02250%
23.00-22.50 | 0.9055-0.8858 | 29/32” ] ] ] ] 3940.02300%
23.50-23.00 0.9252-0.9055 - - - - - 3940.02350*
24.00-23.50 0.9449-0.9252 | 15/16” R - - - 3940.02400*
24.50-24.00 | 0.9646-0.9449 | ] ] ] ] 3940.02450*
25.00-24.50 | 0.9843-0.9646 | 31/32” . . ] ] 3940.02500*
25.50-25.00 | 1.0039-0.9843 | 17 ] ] ] ] 3940.02550%
26002550 | 1.0236-1.0039 | _ ] ] ] ] 3940.02600%
CRABAGSERR

B LK R 0E 5 R

il.37




REGO-FIX®

£ IKIR

T

R~ O | KS/ER16| L D | KSER20| L D |KSER25| L D |KS/ER32| L D
[mm] | [inch] we [mm] | [mm] WS [mm] | [mm] wme [mm] | [mm] we [mm] | [mm]
3.000 - 1391620300 11.0 | 6.4 392020300 11.0 | 6.4 [392520300| 11.0 | 6.4 [3932.20300| 11.0 | 6.4

3.175 1/8” 13916.30318 | 11.0 6.6 [3920.30318| 11.0 6.6 [3925.30318| 11.0 6.6 13932.30318| 11.0 6.6

4.000 - 3916.20400| 11.0 7.4 13920.20400| 11.0 7.4 13925.20400| 11.0 7.4 13932.20400| 11.0 7.4

4.763 | 3/16” |3916.30476| 11.0 8.2 13920.30476| 11.0 8.2 13925.30476| 11.0 8.2 13932.30476| 11.0 8.2

5.000 - 3916.20500| 11.0 8.4 13920.20500| 11.0 8.4 13925.20500| 11.0 8.4 13932.20500| 11.0 8.4

6.000 - 3916.20600| 11.0 9.4 [3920.20600| 11.0 9.4 13925.20600| 11.0 9.4 13932.20600| 11.0 9.4

6.350 1/4” 13916.30635( 11.0 9.7 [3920.30635| 11.0 9.7 13925.30635| 11.0 9.7 13932.30635| 11.0 9.7

7.000 - 3916.20700| 11.0 12.0 |3920.20700| 11.0 10.4 |3925.20700| 11.0 10.4 |3932.20700| 11.0 10.4

7.938 | 5/16” |3916.30794| 11.0 11.0 |3920.30794| 11.0 11.3 |3925.30794| 11.0 11.3 |3932.30794| 11.0 11.3

8.000 - 3916.20800| 11.0 11.0 |3920.20800| 11.0 11.4 |3925.20800| 11.0 11.3 |3932.20800( 11.0 11.4

9.000 - 3916.20900| 3.0 11.0  3920.20900| 11.0 12.4 [3925.20900| 11.0 12.4 [3932.20900( 11.0 12.4

9.525 3/8” 13916.30953| 3.0 11.0 [3920.30953 | 11.0 14.0 [3925.30953| 11.0 12..9 13932.30953| 11.0 12.9

10.000 - 3916.21000| 3.0 11.0 13920.21000| 11.0 14.0 |3925.21000| 11.0 13.4 [3932.21000( 11.0 13.4
11.113 | 7/16” - - - 3920.31111 | 11.0 14.0 392531111 | 11.0 14.5 [393231111| 11.0 14.5
12.000 - - - - 3920.21200| 3.0 14.0 |3925.21200| 11.0 15.4 |3932.21200| 11.0 15.4
12.700 | 1727 - - - 3920.31270| 3.0 14.0 |3925.31270| 11.0 16.1 |3932.31270| 11.0 16.1
14.000 - - - - - - - 3925.21400| 11.0 17.4 |3932.21400| 11.0 17.4
14.288 | 9/16” - - - - - - 3925.31429| 11.0 17.7 |3932.31429| 11.0 17.7
15.875 | 5/8” - - - - - - 3925.31588 | 11.0 19.0 |3932.31588| 11.0 19.3
16.000 - - - - - - - 3925.21600| 11.0 19.0 3932.21600| 11.0 19.4
18.000 - - - - - - - - - - 3932.21800| 11.0 19.4
19.050 | 3/4” - - - - - - - - - 3932.31950| 11.0 24.0
20.000 - - - - - - - - - - 3932.22000| 11.0 24.0

- TIERC KRR 6E A

- 1RYE T EMRER B HEIKIR

- RERL IS BRR

- MRMTIRE G S5UBRHBEE

'

50.38



REGO-FIX®

wmF

=gl2|B(z(2] | (3
JHEEEEHHHE
NERHHERHEEEE
Bs HE | R | [mm]|mm | L E|2|L2[L2|L(L|8
El6 7111.16000 | ER16 50 160
E20 7111.20000 | ER20 55 180
E25 7111.25000 | ER25 65 210 " |m|m|m
E32 7111.32000 | ER32 75 250 [ I N
E40 7111.40000 | ER40 90 290 [ IR N
E50 7111.50000 | ER50 110 350 [ ] [ ]
E11P 7112.11010 | ER11 32 95 " |m
El6P 7112.16010 | ER16 44 145 "= |mm
E20P 7112.20010 | ER20 52 170 "= |mm
ESM 7113.08000 | ER8 12.4 74 [ ]
E11M 7113.11000 | ER11 16.8 95 =
E16M 7113.16000 | ER16 | 22.5 117 =
E20M 7113.20000 | ER20 29 129 .
E25M 711325000 | ER25 36 141 .
E8MS | 7114.08000 | ERS8 19.2 76 ]
E11 MS |7114.11000 |ERIl | 22.0 100 [ ]
E16 MS |7114.16000 |ER16 | 33.0 130 [ ]
E20 MS | 711420000 |ER20 | 42.0 140 [ ]
E11AX | 7117.11000 | ERI11 16.5 108 [ ]
E16AX |7117.16000 |ER16 | 22.5 131 |
E20AX | 7117.20000 |ER20 | 26.0 148 |
E25AX | 7117.25000 |ER25 | 29.5 162 |
E32AX | 711732000 |ER32 | 37.5 196 "=
E40AX | 7117.40000 |ER40 | 47.5 220 "=

- RIEIRIE SERR T SRIEFIRTF

il.39




REGO-FIX®

HiQ® L E&IR

= = d D L LERES | BREEE
s WS [(mm] | [mm] | [mm] | [gmm] | [RPM]

Set FWR225 7490.22500 22.5 30.5 6.0 16 80000 f \
Set FWR285 7490.28500 28.5 36.5 6.0 22 70000 1T
Set FWR325 7490.32500 32.5 40.5 6.0 28 60000

Set FWR405 7490.40500 40.5 48.5 6.0 40 50000

@4
@D

Set FWRS505 7490.50500 50.5 60.5 7.0 85 42000
- 14H2 RS2 #3R

KSRZHE
FAFEHSK-AFIHSK-EFR 2 A0 H /KA 5
B WS bll:;lr( G [m[:n] [ml;n] wF gg L
KSR 25 7211.25000 | HSK 25 M8x1.0 5.00 4.5 SKR25 | 7212.25000
KSR 32 721132000 | HSK32 | M10x1.0 | 6.00 55 | SKR32 |7212.32000
KSR 40 7211.40000 | HSK40 | M12x1.0 | 8.00 7.5 | SKR40 |7212.40000
KSR 50 7211.50000 | HSK 50 | M16x1.0 | 10.00 9.5 | SKR50 |7212.50000 ‘
KSR 63 7211.63000 | HSK 63 | M18x1.0 | 12.00 | 11.5 | SKR63 [7212.63000 :
KSR 80 7211.80000 | HSK 80 | M20x1.5 | 1400 | 135 | SKR80 |7212.80000
KSR 100 7211.00000 | HSK 100 | M24x1.5 16.00 15.5 | SKRI100 |7212.00000

5840



REGO-FIX®

& IE = FHS-MB

OXRIFER HS12.MB - BENHEE <0.003 mm
. latye s o FIF RO 3 Sk
mm i . REFERZ/NF3 mmESE A
1.000 0.0394 1912.01009
1.500 0.0591 1912.01509
2.000 0.0787 1912.02009
2.500 0.0984 1912.02509

& E = F<HS-CF

OFIHEE - BEEIEE <0.003 mm
_ tstzor | Hezoor L TROMEIK
mm inch - ATFHOEKE - ATEASA
3.000 0.1181 1912.03002 1920.03002
4.000 0.1575 1912.04002 1920.04002
5.000 0.1969 1912.05002 1920.05002
6.000 0.2362 1912.06002 1920.06002
8.000 0.3150 1912.08002 1920.08002
10.000 0.3937 - 1920.10002
12.000 0.4724 - 1920.12002
14.000 0.5512 - 1920.14002
16.000 0.6299 - 1920.16002

22 (HS12, HS20)

[mm] [Inch]

CC-HS 12 | 7331.04200 HS 12, HS 1/2¢ 3—4mm 1/8
CC-HS 12 | 7331.06600 HS 12, HS 1/2¢ 5—6mm 3/16% — 1/4%
CC-HS 12 | 7331.10200 HS 12, HS 1/2 7—10 mm 5/16 - 3/8
CC-HS 20 | 7333.04200 HS 20, HS 3/4“ 3—4mm 1/8
CC-HS 20 | 7333.06600 HS 20, HS 3/4“ 5—6mm 3/16% — 1/4%
CC-HS 20 | 7333.10200 HS 20, HS 3/4“ 7—10 mm 5/16 - 3/8
CC-HS 20 | 7333.14200 HS 20, HS 3/4“ 11— 14 mm 7/16% - 1/2
CC-HS 20 | 7333.16200 HS 20, HS 3/4“ 1516 mm 9/16 — 5/8
CC-HS 20 | 7333.18200 HS 20, HS 3/4“ 18 mm -

- BRYIBHARRETIRA

il.41



ORHFEH (%] HS12 HS20 HS25 HS32
mm inch | inch] | S wmS wms WS
3.000 0.1181 - 1912.03000 | 1920.03000 | 1925.03000 -
3.175 0.1250 1/8" 1912.03181 | 1920.03181 | 1925.03181 -
4.000 0.1545 - 1912.04000 | 1920.04000 | 1925.04000 -
4.763 0.1875 | 3/16" | 1912.04761 | 1920.04761 | 1925.04761 | 1932.04761
5.000 0.1969 - 1912.05000 | 1920.05000 | 1925.05000 | 1932.05000
6.000 0.2362 - 1912.06000 | 1920.06000 | 1925.06000 | 1932.06000
6.350 0.2500 1/4" 1912.06351 | 1920.06351 | 1925.06351 | 1932.06351
7.000 0.2756 - 1912.07000 | 1920.07000 | 1925.07000 | 1932.07000
7.938 03125 | 5/16" | 1912.07941 | 1920.07941 | 1925.07941 | 1932.07941
8.000 0.3150 - 1912.08000 | 1920.08000 | 1925.08000 | 1932.08000
9.000 0.3430 - 1912.09000 | 1920.09000 | 1925.09000 | 1932.09000
9.525 0.3750 3/8" 1912.09521 | 1920.09521 | 1925.09521 | 1932.09521
10.000 0.3937 = 1912.10000 | 1920.10000 | 1925.10000 | 1932.10000
11.000 0.4331 - - 1920.11000 = 1932.11000
11.112 0.4375 7/16" - 1920.11111 1925.11111 1932.11111
12.000 0.4724 - - 1920.12000 | 1925.12000 | 1932.12000
12.700 0.5000 172" - 1920.12701 | 1925.12701 | 1932.12701
13.000 0.5118 - - 1920.13000 = 1932.13000
14.000 0.5512 = = 1920.14000 | 1925.14000 | 1932.14000
14.288 0.5625 9/16" - 1920.14291 | 1925.14291 | 1932.14291
15.000 0.5906 - - 1920.15000 - 1932.15000
15.875 0.6250 5/8" - 1920.15881 | 1925.15881 | 1932.15881
16.000 0.6300 - - 1920.16000 | 1925.16000 | 1932.16000
17.000 0.6693 - - - - 1932.17000
17.461 0.6875 | 11/16" - - 1925.17461 | 1932.17461
18.000 0.7087 - - 1920.18000 | 1925.18000 | 1932.18000
19.000 0.7480 - - - - 1932.19000
19.050 0.7500 3/4" - - 1925.19051 | 1932.19051
20.000 0.7480 - - - 1925.20000 | 1932.20000
20.638 0.8125 | 13/16" - - - 1932.20631
22.000 0.8661 - - - - 1932.22000
22.225 0.8750 7/8" - - - 1932.22221
23.813 0.9375 | 15/16" - - - 1932.23811
25.000 0.9842 - - - - 1932.25000
25.400 1.0000 1" - - - 1932.25401

« ZEH(Inch) R~Fa] AT 1

REGO-FIX®

RERRINERE

HS12 =12 mm
HS20 =20 mm
HS25 =25 mm
HS32 =32 mm

5042



Made in
Switzerland

Swiss
Precision
Tools

Head office REGO-FIX AG Sales Germany Phone +49 7621 15 04 60
Administration Obermattweg 60 Fax +49762157 87 16
Production 4456 Tenniken/Switzerland

::hone +41 61 976 14 66 Sales USA REGO-FIX TOOL CORP.
ax +4161976 14 14

fix@rego-fix.ch 7752 Moller Road
rego- go-Tix. Indianapolis, IN46268 USA
Phone +1 317 870 5959
Fax +1 317 870 5955
info@rego-fix.com

www.rego-fix.com

R REHOBRAAF
IHn&ERILTERILREI38SER
feE1-610%

Phone 0512-57921835

FAX  0512-57921836

G-2011-E 0363.00002

Representations in over 60 countries.




	ER系統目錄
	ER系統
	2_筒夾
	第二章
	第二章1
	第二章2


	3_攻牙筒夾
	第三章
	第三章1
	第三章2


	4_螺帽
	第三章
	第三章1
	第三章2


	5_TC夾頭
	6_BT夾頭
	7_HSK夾頭
	8_CAPTO夾頭
	9_小徑夾頭
	10_其它夾頭
	11_浮動夾頭
	12_扳手
	
	第十三章
	REGO中文型錄 129
	REGO中文型錄 130
	REGO中文型錄 131
	REGO中文型錄 132
	REGO中文型錄 133
	REGO中文型錄 134




